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o'"w Riddle
1. When do we say it is 710X to do in the case of 0°1w” (older ones), and when do we say it is 7N to
do it in the case of nw" (older ones)?
2. What are two places in 0”@ where we have the concept of a on? 990?
3. What does a 19w and 0°931 2 both have the power to do?
4. What are two places in X702 22 that we are told that we shouldn’t be n7» (compare one to the
other)?
5. What are two places in X702 X221 that the X713 says that a person is not so brazen to do something,
127 .27 WIR %0 KD, ?
What are two things that 0797 said in X702 X22?
7. What are the two times we mentioned “Arabians” in X702 822 noon?
The Answers are at the end of this post
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Keep naw And Bring The Redemption
WX 0°0°707 7 K 713 TIRIW D9RAT TR N33 NN N KR PIWR Kon9R TP 12 Pwaw ' own 13m 1'R
(:PP NAW) "N WP 7 PR MR 7N 2N "MW DX 10w

Levels of Obliviousness of the Sabbath
Where am 1?
(-2 217°Y) 121 P 2N YT PR 00N 0
Perhaps the question is WHEN am [?
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My Young Padawan

Who Said Anything About The Redemption?

U X TR
PWN 17 19K NYT A0 1R '3 R1INT MPAIN K? 1711 K1Y RMVNA 172 0K 722 POYnT 1227 1Own 1 0 KT T
(.72 7I77I0) 27PN ARXD

There might have once been a *X2x waiting for a tenth man to complete the %12 in a shul. The *X23 said “If
only so and so will come, then we will have the 7°12. Right then, in walked so and so, and the *X2x said, “I
should have asked for mwn”.

(:3%P XIN2 X22) TIWNIR ANYA T OIR POV IR 900K RMW 27 92 RAK 27 7OWT 11°°7 D °1°7 377 RNYIAT 0117 707 IR

This 109 that X237 is quoting is seemingly talking about the redemption. Why is X217 choosing to bring a
verse referring to the redemption in connection with ©°7°¥ 21 being saved from rendering a wrong
judgement? Perhaps you can say that it is fundamentally connected based on what we see in the X713 in
70,

2°N3 577 M2 12 YWITY M ITI00R MR 11971997 09713 P12 1907 27102 R CRIAAK VP01 57 29102 9K KDD 27 AR
(.72 PIT7I0) ANV IDT KD TIWONR 10T MIWIAR 22001 N2

This is how *”w1 explains the word °17 in naw.
.0°2212 T2 TV WA L WD L DRIV L YPWA L PT LR DRI DOV . 5397 SHua 1"70"wn .uhp naw
Now, we know that X1 said the following concerning the mwni nmn:

(02 7I7730) 7292 NPO9R TIAYW KOX OWHT MR T 09 7A TR

So perhaps we can suggest that the preventing of erroneous judgement from the Jewish judges, will
prevent the "v57°13 from performing their subjugating actions against the Jews, which is connected to
n1o%n Mavw. And according to PXmw freedom from no%n Mavw is what the mwni i is all about. So
now you see a direct connection between w>2°¥ 21 not judging incorrectly, and the verse of nya *7 "X
TN,

- I still don’t see the connection between the obliviousness of the Sabbath, the
redemption, and X2 X22.”
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Who Said Anything About X% 79N
MPYR 12 YRwn Xp X NIEY2 WM INWD 991 WM 101 W T VRN N%37 0w AR OTRI TWYR 37 MR NP N R
(V3P KN X22) MIYY APV PYD XT KK YR "5p SR PINT KMWI RN

The connection is that it is random. The X77° of 27 X 7717 *1 is possibly teaching us something that is
not the main subject matter that we are studying. It is a 12 Yawn Rp 707X 238 Xn?°1. Also the P1oo quoted
by X217 is seemingly random since one might think the redemption is not related to faulty judgements.
Finally there is a connection to the land of Israel which is very praiseworthy, since according to X2°py ’9
the TM97% M3, who were meriting of the nw 1 of inheritance laws to daughters to be written, these women
were the daughters of the wwpn, the Sabbath desecrater. We see that there is a discussion towards the
beginning of 17m1 w° wether the land was apportioned to the 87 °X2 or the 0°*7%n XYY, but
never-the-less there might be a connection between the redemption from Egypt, in order to get the 7710, in
order to fulfill all the nmx» including the ones that are Y2 &2 Y70, and to enter the land of Israel, and to live
there and settle the land.

=]
NEUROLOGICAL CONNECTIONS

& Purrlke axperiment
= [Dopamina release

= “Light-Bulc”™ moments
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Who Said Anything About Crocuses?

In *722 this phrase seems out of place;
TN MITWA DOXIP PR™PR X222 190 WYOR T RAYY ORA RIIT 27 MK I ORAY DUXP KIX T 01970 XeHwa
(:71p ®7N2 X22)

The Xn3 explains why thorns in the vineyard is 2’875 according to T1¥2X *. Crocus (Saffron) the X773
understands why this is an importan 27w thing that would constitute a forbidden mixture in a 73, etc.
etc.

The question is who said anything about Crocus?
According to the version found in the *»7w17° this phrase of the X713 is more understandable.

(.72 X7N2 X223 °19WI7°) 0192 PRI PYIT AW 129D TXI 10 KDY P2 9272 901 020 R

Joke
v vy

What did the Rav call the new shul that was made for the people of the city that were X°0:71192 naw 55nn?

He called it a

(:vx P21Y)(LX NAW) TIWY? POIVXA ANIM M2
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TrobR N2

”Did I ask too soon? Did I jump the gun?”’

To Know When To Talk
»UX Y TN

57723 19K 17277 5727 N7 0101 1KY IR 71972 1381 DITAY 2 109 7277 1R 001 QIN72 YA 0932 0°727 Avaw
NART Y 7711 NYAY RY IR YA ROW 7 981 AR AR DV PIWRY WK DY 90IR7 79770 2R PIva DR 20w
(0 mawn 7 P75 MR °pD) 0732 1D1m

One of the differences between a 0on1 and a 093 is that the 2o knows when to talk, and when not to talk in
the presence of someone who is greater than him (talking in their presence, perhaps contradicting them or
interrupting them).

To Know When To Darshen

MI2W 1°27 7WR 0 YT IR CIAPWI NP M 377 791 R2PY 027 2700000 020 0 507 1INpwa WA Xp7n ' InR
101w ROR WR 070 9¥ 2N2°7 M2 WIS 0% AP IRY OX 77102 PP0 NP0 OR YT 300 KD 22K 17 D ooy
707 PR YT 77 K2 DR DAY D YRR RRIW T0°Ha WKW 11°20 Awa 700 YT 770 9V 72021 7908 Ml

S0 5Y MIT PRI TR 17 DY TANIN WWIPn 200N XX Awn 070 DY An3°D wwpn DY a0 IR NI R
(:v°P XIN2 X22) 2°°07 °7° HY 72 ORI

Bear in mind who is *1pwi 1wnw a b0 of. He was a 7n%n of X2°py *1. Take a look at what X2°py 9 said
In D2W Noon.

12779 71 9272 NN AR IR RIT 12721 1A WOR IREANM D274 DRIV 2312 197771 IR RIT 1D 00N AT wwipn 2'n
T°275 OR P72 DX INOD TNV AR 79 12 70 12 RBPY RPN 12 370 12 0K RPY M 5127 77998 IR AR T190%
I RDOTIA ROR M RD WA MW RTA AR KT RORY POTE NN DY TYD ROV NR IN? ORI NN 723 70K N0 700

(.33-10% NAW) 101991 M 9Yn

If npwn 1ynw held like his Rebbe, then both of these n1w1s were caused to be written by the same
family. Either way (even if he doesn’t hold like his Rebbe) we see in naw that X7°n2 12 777 "1 said to ™
X2°py that he shouldn’t have darshened what he did, however according to X2°py 1 it was the right thing
to darshen. However everyone agrees that the 7157% M2 were considered to be nv1on for saying their
mwAT at the correct time.

aWR AW TAR PRY 27 72 PRIW 1"RT 1727 AV 2D9W 177 NIPINIM 1T NPIPTE 17 NPIWIT 37 NPIR0N Tiob N1 XN
11MX 02°NN R AR 120 7203 117 710 PR 1K 120 AKX 17 1IRK 1T 2K 12w 0 AR PR NwI5a WNT 2w 100
(:1°P XN2 R23) 107121 13727 KXY 1279 77 12K MR YA 17 DPAWIT "7 219% J00wn IR Awn 2997 T

So you see the reason why they were considered N is because they spoke nyw 97 at the appropriate
time, as 11°27 77W» was teaching "2 nw1o at that time. They were n1°1wn7 and they figured out all of the
mwn7, but what made them n1°111 is that they brought all this up to 11°27 7wn at an appropriate time when
he was teaching that &>210. So this is an example of “To know when to bring up the X210 along with all the
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mw7. They were 1avd R, Also you see 1127 7wn was 77 2197 judwn DR 7wn 299 7°1, perhaps this is
similar to saying *nynw X%. Then he asked God, and God told him the answer and then he heard the
answer.

To Know When To Answer 2°wi7 91721 1K1

0107 MR INA 921 11N N°22 77 300 172107 2P 1107 9P SNREA K21 2°ITR7 722 *N2Pw 9377 X0 12 1902 2°N5TD
(:m% XIN2 R22) 7179117 RO NN YW 002 D27 WH WARIY YRYS 002 D27 WR TIRD 7P TR

To Know When Not To Talk .121 7271 X
(.03 D°10D) W DM WA PMR MARIW DWHVY WM 9P 27317 A NW 119° 0O 1IMR IR

We find throughout 0”@ that the great 2°X1n1 X1 MR sometimes hinted or communicated through gestures
or hand motions. Here is one example which we find in X702 &22:

(:237 2"22) 1D NX 79" 9 MR T2 MR ORD K2 Py 12 7473 ' R op 2
So sometimes you should know how to say things without saying anything at all.

(:P P21°Y) MR RIXIAT KRR 0D 100 272 YN AWRAW TR0
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At a dance party with Beyonce': Donald Trump's brand strategy’

for the presidency is simply genius
Nitzan Fux|Yesterday | 11:26

Trump’s 'what is not said' marketing technique

Trump talks like a teenager, uses cynical and biting language, and even weaves in (subtle but deliberate)
online conspiracies. If you are not familiar with the allegedly serious sex scandal involving P. Diddy, which
allegedly took place at the parties he hosted, or the conspiracies linking him to celebrities like Beyoncé

and Jennifer Lopez, then you're missing out on what's happening on TikTok.

This marketing tactic is quite genius, like a gift from heaven to Trump. How is it that people associated
with P. Diddy, who has been accused of gross misconduct, are the ones supporting Kamala?

In a brilliant move, Trump encapsulated this scandal and the online conspiracies involving celebrities at P.
Diddy’s parties with a single line that says it all: “Kamala is at a dance party with Beyonce.”

A good marketer knows that even what isn’t said can support your brand.

-YNET NEW
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Sexual Purity

A AN
(o3 772) PPN DWIRD MW 2w P17 mama TRty L

(=3 N2W) 107197 17322 R 177322 K7 9V QY WD 102 7100 ROVR .2

(230 772°37) 121 .11 PIRW 737 RX 1 NIT D02 72 A0 MIPOIN 10w PRV TR v kY L3
To Know When To Darshen

Sexual Purity
In order to Darshen and teach students in matters of sexual purity such as laws of forbidden relationships
etc. there is one requirement.

(:R° 72037) AWHWA NPV PUNT PR

We do not darshen and teach matters of N1y forbidden relationships unless threre are less than three
students in the class.

Related to N1y might be matters of 1om or lineage specifically that that contain products of forbidden
relations.

There is alot to consider before the conditions might be ripe to darshen matters of °or1*. A Rav has to
know when to darshen matters of 011>, and when not to darshen matters of >omY.

707V 21H0 WATAT N°22 09727 23w IR PIRWD PTAVY 070 MR ORI PIRY 70°V 922 Mwy? Wpa 0n1 "0 002
ORIAW? PRI DRIW? PIRY 70OV MR 92 1772 IR 732 0100nP 2aNTR 707 10 90 300 PR 07 K 99 00 1M
K277 137 227 AR 121 1191 WD 1007 WA TV 19721 12w YTIWOAT KDY 1PIAR 1% 91X 707va 1P 9225 novy
AR MR VAR FYALI TYRLIY AROWR PIXC M NRT PXC 0 79 120 72 R0 NI T AW SWYR 17 7aR X7 1072
19K T2 Y172 117X 12 7270P) 00T DR TV Y172 1% 12 AP0 17797 02v3A a0 79935 1Y DRoWR RIMIN 11 AR
D290 17 R 0% NNR T RIRN VAL VALIY 05w AR PYTT IR 130 2P PRI 0021 XY X2 1POR
PR 92 7M1 27 AR V1AW 0oYD 139 2RI V1AW AR aVD TR0 070120 INIR 22107 0101 DaR Imoa

(XY PRITR) MAOWR 7930 K21 1T MNOWR  A9AR KR? OX 711 177 R0INTD 312W2 NAR QYD IART X1 X120

This last 83 might be going according to the 9nR7 1Xn that a 7°11 is called a Rvin.
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To Know When To Darshen

A Tale of Two Cities 7°2°31 and N°1192

N°DD
Perhaps ®1nn *1 might have had a lot to do with the city of °1199, but was he the Rabbi there?

(z02p P2I)
(.an o°roo)
Were there any other Rabbi’s found Darshening in &°1199? Meaning besides for 2py» 72 XX °A.

(.1o ¥7n2 NJJ) 121 R°11992 3Py 72 RAR "M w7
Darshening
SERERS)

Well we know that 12°%1 was X7°N2 12 7717 *97 °I0K.

X7 372I 97 37 9% MR RN 12 737 M2 7P ANR D199 19 TN0R TR PT ONREA 1727819 2990 DAR ays o "R
(.:ap Mna%) 321 .0 N

(:3 2°M0D) DHWITA 01D TNTIXAY PPAOKI2 NXT RPN 12 AT " T2 9w RN 12 AT 2 0 00w a0
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Were there any other Rabbi’s found Darshening in 12°%1? Meaning besides for *Xonw *.

(02 797 3712Y) 101191 3TN PRY 1R 1T D02 AT 1 1w PRI R M WY
Not Darshening

P

, ABIGMAC

Here is a Rabbi who was Not Found, or rather “Found Not”, Darshening in a place that might have been
0%,

R ONAR 799 R 5277 73°0P7 ROX 22 071 K21 179 90K K21 82902 RO1PDT XYW 7o0P7 101K RAW 501 27 YooK N
T2IT) DX 227712 PRW 7Y RYY IRT 22997 201 M2 1D WIT RIAR R1T RN 12 9707 T DINOK 7 R 1700w
(.Top

Now I think that X1n» ’9 and 2py° 92 RiX *2 might have overlapped as far as when they lived, but I don’t
think that X7°n2 72 7797’1 the Rin, lived during the time of “X7w "1 the early X1nR.
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A City Of Two Tails

Fathers And Sons

ROnR Nnn

2°12% 290 MR TWYR 2%a7 DYDY MART MUY 19

Sometimes perhaps you can use the mv*w or the N7n 1 of the fathers to remember the Mv*w or the M~
of the sons. Two examples:

1.

We know that X*omn &nn was where "W *7’s yeshiva was located. Perhaps that is also where is medicine
cabinet was also kept as well. The X713 mentions that one time there was found a dead rat in "wX *7’s
medicine cabinet on N2w. They didn’t know if they were allowed to dispose of it since it was 7%, So *
*wX told them that they can grab it by its tail and dispose of it.

(27 7%°2) MIPORY NI MLPI WK 27 3172 MR WK 277 PPRIDOR 22 NONWRT RNI2DY RITTT
72112 . AnsxIRa 7"7"wD

Now in X702 %22 non we find that *wX 27’s son "wX 27 72 1 explained a X*wp based on a concept we find
with the tail of a lizard. The 8713 says it is a rule that if a woman dies, the fetus always dies first. The &7
says that this should be disproven based on the fact that we have seen it happen once that a fetus kicked
three times in its mothers womb after the mother died. *w& 27 72 7 answers that this phenomenon can be
understood by looking at the lizards tail after the tail has been cut off of the lizard where we see that the
tail still moves after it is cut off even though it is clearly not living any more since it has been completely
severed from the lizards body. Now *wX 27 72 71 might have been in the same city as his fathers 72°w>
when he said over this X720. He just might have been in his fathers 72°w” in X072 Rnn.

ART M PR 232 ORI 20212 DM DWW 27 AR K KD 921 PR TR 2P 12 2031 DM IR 41 12 PN VAW KN
RI777 RI2°17 2AR7T 72 PARY 277372 9222 1K DR WA 127 PRI KXW N7 RITT RAYL ORA K7 721 92K TR 21 12 XN
(:2mP XIN2 X22) NDITDAW ARV?T AR MIT 7R WK 27 72 I MR 201D XNPN 0D RTW 77 R KW2 N0

One might ask why *wX 27 72 7 used a lizards tail as an example of this phenomenon when we know that
it is considered &nv, and as the 8713 in 2’109 w1 said the 775 who compared his portion of 72170 to a
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lizards tail, showed that he had something wrong with his lineage, so why is *w& 27 72 71 using this as an
example of this phenomenon? Perhaps you can answer that in the case of the 772 where they need to
maintain themselves in the appropriate status of 7770, so his analogy showed a lack of sensitivity to
matters of 771770, but in the case of *wX 27 72 7n, he was mentioning the lizards tail perhaps because this is
the most well known occurance of such a phenomenon, and since it is the most well known it is the best
example to use to illustrate this phenomenon to the o>71n.

(:710 M) (LTY M) WX YW I N v .2

Both 1wnw 1 and his son both darshen a 105 to only be referring to men based on the logic of it is only
R 9w 1377 ete.. etc..

Fathers And Sons
The R 13 discusses a " pn vi, and how the witnesses sign on it.
70w 777 TN IR TUOWA MY RN X127 WYY NN 77917 onn 007V o i 11700 07V 1120 00 PR
TRV TV 2PY™Y RIT 712 12 12D N0 W TV ON9D WOR 12 1INT TV 2PY° 122 IWoNmY 7072 12IR? 7Y 108 A0InR
7Y 2097 2PWH RAOK NPYIORY TV 220D RHT WD TV 019D WOR JANT TV 2PV WINAT 12 J2IRY A0 103 K197 Wi
RNPT1 MIART AW DONM DT DAY WK PR R ART AW XA RIT IPYPT IR KT DDA RAT 02 10077
XN1O7 NI 27 92 X271 7™V XYW 27 7"0 RTOM 27 RN VX KT RIMND 1O 27 RIT NWT RGT RV RIO
(:RDP XN2 R22) RIND TIART TAWY TNV WOIR 780 KD
The & 13 has established that by a "wpn vi the signature of the witnesses is on

the other side of the parchment of where the main document is written and the
signatures begin from the bottom line of the document. The &1 asks if so the
holder of the document can cut off the bottom line of the parchment if it adds
stipulations that might be unfavorable towards him, and leave on the back side of
the document just the segments of the signatures containing the names of the
fathers, and he would claim that the witnesses signed using their fathers names as
symbols of their signatures. The X713 answers that that would not be believed
since people are not so impudent to use their fathers names as symbols of their

signatures.

Having mentioned this perhaps one might wonder about in a case where the
witnesses have the same name as their fathers. If you think this is unlikely, wait a

second. I found twelve in 0”w.

Here they are:
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R By ... 70 PR
They named the son after the father

I counted twelve times in 0”@ that you have a son with the same name as his father:

(:m M>572) KR 92 RAX
(-Rp P2Ww) MK 72 RAX
(.nX 7OM) PR M2 OTR
(:7d P217°Y) 02 32 07
(2715 9P TVA) 1737 T2 PIn
(.29 179731) R "2 ORY
(.Y PITMI0) 2Py N2 2Py
(:m 7377 ATAY) ORD°A0 12 ORIN
(.R? 777 AT2Y) NI N2 RO T AR
(-\R¥ RIP2 X22) MM M2 M .
(.2 1 onbhe) aran [ e .
(:2 Pwea nPwI) o 1A 0Y .

[ IS I NV O VCRE SR

—_ =
N - O O

To Know How To Talk In The Presence Of A 25n

323436383103 123 143 xpaopapapaeanmidia
T30 RNYAW ORT 1070 AR T IR0 MR 1272 ROYAW ORT 107 MR TR 277 0P 220 W7 27020 N T ¢ A
"297 PP 19 UIRRY OROT 12 T3 ' IR T 99T 0Rp 2an N7 TTRYN 0N 13T PRIT 072 27 NWR K91 17100
AR FIRDIVA PROMAT ANV TIXI2 T 2307 R TM A0 RO PRI 02 PIXIA 7 2100 AR T A M rn Tm
"IV 172 MR TR O30 RNPN 1T 9RO IR ANAY TV 200 217 10 XD PRI AR TR 712 0K 102
XD 7909 manen 10 TRTIA PR XM 2100 YRR 12 IRIAY 1M 1T RO 2372 2I9°AT MR T NPT C30NT AR T 9190
TWO1 YIRT WPRT AN IR KRR NPV OR1 9100 PRW XK ROR 9100 AW 8o

(:3 D170D)

9993 .197 .19 K279 O WODIT RITIAR RIOXT 23 9¥ AR I DY 2w K17 07 7K DOWHAM TN 7XAIT 21971 110 130
RWITA 727 707 "2 IMIPOR RT 231 10 ARk 2OWAn? YIN DX 19237 3% 1702 'R 1930 R

(:39 X7n2 X23)
We see that 717’1 was 12712 82w 2R he didn’t ask properly, so they kicked him out of the ma°w.

R2W 9"YR NYRM 77 WY A0 ' 2207 L1911 70T AWYA PART 1 NI N2 DWW 290 RPAR M PR RV an
Y7 X7 01 272 7127 R12A K2 VAR 79TV ROR 7797%1 K7 RDIW 72 727 90K L1071 .19 PAR 2w 17 977 287 D1 aN2w
27191 ANRYEMY T WY NPT 0 XOWP RO 1NINM A0 ' K27 MR KPR RN2PN 2NINPY DTV RIKRT

(-3 m2nd)

You see that a 727 X123 such as 7o *7 if he asks a question and seemingly there is an obvious answer, his
question should be taken seriously and further effort should be expended in order to try to understand it.
Incidentally you see here how much admiration 827 had for his Rebbe 701" 2.
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5"R XT0M7 M7 1WA PAIRT RN SN RIIAT M RTIHR 907 9 TR RAVY R OWR M H"R 9222 KXI9D0 0 X192 A0
7977 127 TO9NT RTOM T 1WA TR IR KDT RIT 71727 RIWT T WA NN KT AR IR 0K DR AN IR NG
RIX 07 927 71090 N1 RIRY T

(.30 P21Y)

It is prohibited for a 7°n%n to pasken the ;1577 in the 0K or locale of his Rebbe. The boundary for this is
3 mxo71. So even though it is not literally before the 0311 (in front of him in his presence) in a certain
sense perhaps we can call it “in the presence of the 0dr7”.

21 RAWA P27 I PRI M RATIND O2IR KR 17001 N AT R MM ¢ ap
(:32 X1Y)

What is being ®»wa w17 based on? It surely is not superstition. So perhaps it shows a sensitivity to the
770 if someone names his children names that are not found in °?105 that might give the name a negative
connotation such as M17°2 would bring to mind the 105 of 77 M350 M7 °2. So one should know how to
name his kids in the presence of a .

XD 0190 WL WY 2700 WD 71972 2°0017 NWH X171 IR 2 AR
(.3p Mand)

Perhaps when talking to a 0211 you should know things about the language of o°»5n. The language of o°non
brings blessing, wealth, and healing.

211977 727 R RN 7472 DA IWOR WK N127 RPDOR D197 ORA D197 1KY 2191 25007 2102 IRY INNTR RN ¢ MR
DIDTIR PMINAY MYHR "R ROR 21097 727 277X M3 770 TIKR WK A7 1971 7000 78020 7 20037

WM wmt Sy o"awn
(wun720)

According to 27°s vw» it is not a >R to her since it is a praise to her that she was told she was supposed to
marry WY and she knew that he was a n1"1277 nX anoon. Ve’simanaich she said to herself “Could things be
any “Vorse” v’m?

(-32p X712 X22)

NP IR 27 R2INT 77 RIMR RID HO 27 AR XA AN A0 "R TN Y 1021107277 177 IMRT RITT 2
2191197 99129 38T 1R 7307 17377 7RY

(.3nmp X7N2 X12)

Perhaps there is to wonder why is the &7 bringing a proof from the P105? Isn’t the preferred criterion for
defining this to see what is the 07X *12 WY, as we find by 0°171? Even on the next 7y the X3 asks about
if one would refer to one son as sons (in a case where he has a son and a daughter). The X723 tries to bring
proofs from 2°p109, but in the question of if a grandson is considered a son the X713 doesn’t bring proofs
from 2°»105 even though there are 0°p105 (see .20 Nn2°). The opinion of *wX 27 72 7» is that a person does
not refer to his sons sons as his sons. The X2 than brings a Xn»72 to support him.
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(DW) 0°12 °122 N 01272 ARIT ATIMT WK 27 72 MNT 7°011D RN
So you see that the &3 is saying that we go after the 07X *12 W% just like by o*371.

Anyways perhaps we see from here that people should be speaking as the 7170 speaks.

"% X270 2N WIWT VTN RDPIRT RI0D 11 K77 AR RNPINRT X100 007 77 VWD TR TY2 WIPH2 2°IwT 2"p R
2N22 221w 2°OKRT T2 AN R TP 12 VW 9277 XA RINT R2OR 1DIWXOW 17 79 DY AR TYI 2022 TR TV R
IMR TV DR 2DIVINAT KT 7D DY 22IWY 2N22 T2 AP 12 YWY T ROR Y w200 93 ROK D0¥A XY 79 DY 00w

191 197LX°W U 237N DT T2 ROR VD annoww M7 1R CIR 1770 10w KIW KD RADT IR 10781 R 75 DY ORI 2002
D RWATA 022 P17 5270 3PNV RT3 a0

291301 10 ROW DRWW IMIPORT RiIT 10 Q0 2WAW . WY KT 9w "7 2"awn

(:71op X1N2 X232)

nRRT DY 7T
Here are some examples of being N %¥ 7717 in XIN2 X322 NN,

5% NORW 77 727 127 79w RT R2T7 8D 27 9"R 1D A7 ARWIT PAMID X212 2797 217900 00w 01w R27 wATT
ARWAT 12010 PR 12T RY 7312 737 ARWAT 12010 127901 910291 171937 ORI 2w 1R 70 272 127 02 1797 R M
129YN3 710277 17217 ORI ' DIWR 1IMKR TD 072 °7°2 37 MYD 037 PNINKRY 02727 WA 29V RNAK R PR A7 AT 7
(.T9P RAN2 R22) 717 77 ARWAT 1720 PR 11T RY A9 A7 ARWAT Pamd

727 0P XK °207 7PNYWA ap KT °27 P70 0 1277 MW NPT AR RIT M AR WA NRTAA MK RK M N npia
(:M3p X702 X22) 121121 2°007 DRI PIRT RIMK 70 VAW KT 90K KT T 00wl

SNYRY R IR YRR ROW 72
Here are some examples of *nynw R? 9mIR yaw RoW 71 %31 in 8702 K22 No0n nHw».

927 2R O R R IPNRT AR YT mMnwh vhya Ho By onarn 10 1 yene M avapin a1
(.02 XIN2 X2 W) .2
(.19 222 °1HWN%) RN1PN RN K77 72 MOWR XDY 0010 W va pnx ™ .3
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Rn2 N2

The Last Gate

=

=SSN

e

= j  fi=

There is just too much to write on X7n2 X232, and perhaps many more qualified to write it than [ am. For
after all, who am I compared to all the great Rabbis that preceded me. I am nothing compared to the great
Rabbi’s of today’s generation and my Rebbeim, and afortiori that I am nothing compared to the o 11wx".

So why should I write?
(:R2 TIVY) TR TR 7277 0150 MWY R MK 12001 R? 737 2100 W 113 W1 O

Perhaps one can say that the same is true in the case of writing on X702 822,

This noon is like an overflowing wellspring.
(:7Yp XIN2 X23) yaun YRl
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DYMNMTT DT
nop 1op Yop
YT K27 7DD YT MIART MIDD? WINIRW YT 001 YT KD JIRT 271 RIR 1 RNOM R1IN ' 77 °pnn
(1%p 2"22)
(339 T2IT) 191191 PARR 1T A0 YT RIX D191 .01 13 110 01
(:mp Naw) 121 X2 017 37 MR YR TONWNY 7N ATV 1IAR 73272 27157 10120 10121w0 1'N
They were more Y mn:

53 NMY 7Y 173923 DOX I R? RITORT RIW2A 999X 717 00 RAR 19°RT RAX 232 R0 72 X207 ROP7 K2 RIX RIPW 0 KR
(.1P P2IT) L1971 .101 RIPPIR RNPINK RNTIWO? RIPOK RDT RIT RNTWO RI2 RIX 12K RNW:

They were more ?pn:

2192 172 KRN K2 IMK PR KD 70K 1192 KW 11D 1P9Y 07 131 ' RIT 9T 2IRW 13 ' DX PRI CIX 191 .0
(.1 2°moD) "192 ROV P2

NIMTT DT
(:2°p PAR)(:3 2°HPW) .11 27NN U

You see what 2IRW RaX says in Xn:

1777 721232 AR AR IRW RIAX X2IN NOVIT I1W RAN KR?Y 7727 2P 2D vawsw 73 17990 92 20w 10 R? 200w PR
(:0° RAP) 191 .10 PROINT 1AW ROR WIPRT 17 10 U

You see a similar idea based on 218w RXaX in N2,

XL NNEN AR MED QWY PININN PRY PWIYI AX00 MNXAY NATIP 012 NNER M Qw5 1PINoNn PIw AwRI2
DYDY M1 DWY 1NN DR DN MR PIRW RIAX R2INT .11 .11 DIRW RARD 777 7720 RIPOYA 101191 D12 NNZR? DnTp
(:0% MN2) 107391 AN T NPAY PPV CIX 1PY IV YD 1R MR 127 DWW MR

Something similar from 717>
(:R¥ XIN2 X22) IROA NI RTIWY 2W 1291 TIWY DWW 12D XPIW RNPHVY XDV PIPOA N T RIVA A7 T 0R)
(.7 AID) L1110 DATPW 19V ORIV 12 MR DOOWN DWW 1202 PR " Nawn
(.33 P217°Y) 191121 92°77 HW N9 21K DWY OIR PW NI 2RI 2w 127 130 1 R

DWW PYA AR 2PYUT I 1R IPYUT TIDW YA VIR T DWW AR T 700 prva KITD 277 9w
(.71 X7N2 X22) PWRAT OTRT

(230 RY*¥n X22) 1 12 7RI

The previous generation had prophecy, and they had wnpn m-:
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N™9¥2 PA10M 1 NAR OYOW 1P N22 DOwnnwn 1 19 8YRY ORI WP M ApN01 IRDMY 7777 2An nnawn 1''nT
7972 2RI INT PRW KR 1PHY OO0 TIWNW IR TR QTR D32 WO TR 20w 12 2P N2 3770 7101 17°7°2 X013 002
(:r 70I) 101

The previous generation were able to make it rain:

R TOAUR RN D MR RIWIM RNK KRNIV T2 7700 7700 27 KOT2 1R RV RNR XY 007 %Y XDPIVD 13 729
7707 27907 737 991 1°770 RNPWA 17300 KR JIRY T PROTI2 P10 9 7170 207 C1WAT 100 119907V 13K 1IN 2wn

NP IR K277 RITA RP PRIDWT 277 17 IR 17170 37379702 JW2AOW O°0°T 137 AR TR PO DWW WK PRPIWA
12 MAWRT X771 KA1 0210 1NN RP JIRY RV DK RIRDA T 220 107 °2 77177 27 19°K) RN2°NN N0°20 PRRIvA 137100
(:72-.70 M°IYN) 101 191 RT2W DWn X
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AT AT

SR5T 72 a7 120 TR Jup
(.79 X702 X22) NPILAX 191191 177277 KW ORIT 12 1 M 5V 1Y 1nR

Oh, how far we have fallen in mental capacity in comparison the the great minds of the previous
generations. X371 12 111 "1 didn’t need to make use of the Gematria Google Sheets formula in order to
calculate n1vn3. He made all of the calculations in his mind. Unfortunately our generation is not on this
level. So here is the Google Custom Formula Code for the Gematria Formula.

Here is how to make the custom &> i formula in google sheets using the Cloud based java script Google
Apps Script platform. Here is the code:

/**

* Calculates the Gematria value of a given Hebrew word or phrase.
* @param {string} input The Hebrew word or phrase.

* @return {number} The Gematria value.

* @customfunction

W
function GEMATRIA(input) {

const gematriaValues = {

let gematriaSum = 0;
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for (let i = 0; i < input.length; i++) {
const letter = input[i];
if (gematriaValues[letter] !== undefined) {

gematriaSum += gematriaValues[letter];

return gematriaSum;

And Here is how it ends up looking in the spreadsheet.

File Edit WView Insert Format Data Tools Extensions Help

Q. Menus S ¢ & F 100% v~ | $ % O 00 123 D

=
G

J K L M

M3 b

Gematria Functi

n”a
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To Know To Have Reverance From The Presence Of A 2on

20212223242526% 7572303220
The 0511 teaches you 0. Perhaps one who is learning 770 from his °27 should have awe, just like when
the 7770 was given at *1°0.

(:3 Mo12) °1°02 JIOWNRTD 2
The 0511 has the power to save the whole city.

R 51T 27 Xn2°M2 12 MIANK W2HIT 277 [°MST Q1WA 17 110 RNN2T ANA XY 277 7PN122°W3A RNN2T NN K702 XD
AW KNPPRT NN NOPINTA LIM2PY K200 K 9OWT K123 RITT 210 K9R 279 799 RI0W RN K 820 7207
ROTIT DWW ROR RIVT 279 1709 RO KA K212 3772 JINK WIHIT XIWT 277 KMISTA 7177 M20 XNPY2T NG XY X1 217

(:R3 1°Iyn) M2 WH R2PWRY KN RAHAT RNNK

277 X271 2"R RPW 7 0PI RIT 3297 RN OX O PID R2T? XRM23 W 5K 719902 NIAAIA PNMR YT 007 27 120
2R T2 M KY 172 YT M2 T AR NP7 19°00 ¥Haw 90 19191 RV DIR P91 IPIR 7 0N P19 RAR 12 RN
(-39 RIN2 X22) 7277 727 K2 727 RIX A2 28 3N KW KPR K277 5777 1°2 "R 9702 707 190 K27 11 N

In the presence of a 0om and 0°m51 *7°12n you can’t just ask whatever you want.
RWIT2 °27 7°17° 9277 3MIPOR KT 297 3 AR 2°Wnann PIn DR 12377 7K '3 02 DR 1930 7070 M ova e
(:a5 X7n2 X22)

In the presence of a 0or and 291 >1°1%0 you can’t just ask whatever you want.

UM 2R R WP 7Y 1IRK 1T MLAN T9M1 DWW N2 91 R ROWI 1717 27 DRY PAN T 1A 9277 9K 020 170
AR 70A AR 12 QPR 122 W AR 02 7 9190 R 12 21PH2 127 TR DX 70K AR 127 23Pn2 122 TR AR 70 71 oKX
(375 XN2 K22 "05WITY) ROIRT 7970 VAW 2P X1 AR 100 1720 12 ROOK 301 927 7°9 9K 12 21p0a nab v

If the o°non of the previous generation were like angels, then 0°»21 of our generation are like people.
(:2°p P2Ww) 121 .01 D°WIAK °12 1IN DIRP7 212 DNWRT OR RIWAT 712 K27 AR KT 0K

170 1710 YT Pan aRDR 7207 17 20K WYIRYDIR 02 7700 M 20 AT 77 79 27 TNKR AT 1 INRT MNn ORA 11
(3772 N2W) 127,391 MINAY 77 IRAY AT PRIRNT PITO2 WP ALYNNI PN

Don’t think that you can just get close to the 0311, and be as close as you want.

WY INWPY 2PV NXPPY INXORYY DY DMWY MoN ROW IN9MA2 AT N 2700 DW 1IR TAID anninmn i
(10:2 MAR *PID) WK 7na0 o127 v AW

1°217P 9377 NAW 037 .91 AR IDIRT 707 DY RDR 19721 PRI DN DY 1PA1P ROR 1721 PRI PN KDY YR PR ann
(o572 TP TIM) 131191 PP 9377 KOR TNYT RPPD PP 9o

The 17 here is »21p”5” “like” his relatives, but not actually his relatives.

92 Y 150 MK DD RN X2 RIX PPT R MPIA T2 KA RITT RN R RIX 7237 HY RN 72 IR R 00
(212 TOP TYI).732 RN ORAD XNYT
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Artscroll Note 51: [For we are not so close that he should join me in sitting on an overturned bed.]
According to the other explanation of this Gemara cited in note 49, he was lacking in sense for he saw no
indication that Rava was insensitive to his loss (Rashi ms)/

[It seems, at first glance, unbefitting for an Amora like Rava to speak so derogatorily about
another person, let alone a Torah scholar. A similar statement can be found in Yevamos 9a and menachos
80b, where Rebbi, upon hearing a comment made by Levi, exclaimed: It seems to me that he has no brain
in his skull. Chavos Yair explains this statement by citing the ruling of Rambam (Talmud Torah 4:5): “A
teacher who sees that his students are being negligent in their studies and not applying themselves
properly, and have as a result displayed a lack of comprehension, must be angry with them, and embarrass
them so as to sharpen their minds.” Rebbi, of whom it was said, “Upon the death of Rebbi, humility
disappeared” (Sotah 49a) certainly did not make his comment about Levi out of anger or haughtiness.
Rather, he was chastising his student, whom he knew to be a great man, for a mistake which could only
have been the result of inattentiveness. Presumably, Rava admonished Abba bar Marta, who was a young
Talmudic scholar, in a similar vein.]

Lack Of Reverance From The Perspective Of The 329
Perhaps one can ask a 717°n0 from two X7n3’s.

RO RAVD JPIWRI 1717V IR? N9 990 K YN XY 7372 21017 737 DR 737 PIMD0 1°727 1w 1132 W2 29wn 150 AR
X7 77790 57272 K7 XOWP KD IN2IRD 2702 71¥ 22051 INDIRD 2702 N PR 2°N2 AT DR A7 M0 1°727 R\ 110800 )
YPD1 NW 77 DW 010 ANWNW TNXT Y AR 012 I ONWR TIWR 777 KR 0277 70p? RORT RITAT KT 02 RAOYT 0902
XM 527 R YPDY ANW 1 YW 013 AW T1XT 777 MR 212 AN NWR TAR 7 R K1 0277 °0p7 RNRT X0
019 TYN AT NPANY 1TRR T TPI097 1NN 07 R THXR 717 9 2207 TN 012 AYMWY KD 0270 MY Y XIIR
P NI T MRIW O 932 TONW AWK ATONY WIIT P 2XO9A3 127 2207 KiT 2 RO KM 77N 01272 .0°10 <Y
137 2°0° 101 1IN Y IR PO0 TV INAIT IRINT X2 DR WAwR DAN WIN 92 PR IR TR0 INIR 170V 29300
3H3H 1 922 599 AR 01 922 AV 771 57D WYY IV KW IARIY O 922 MO PROVINY NIPR DOV WIIT RPY IR0
SHIRY NPIWDY P°77°R 7Y MR POI AT O JNANT RN R 0 R WHAwT NN WIN 90 PR AR 79170 MR 1Y
121101 QTR 212 01w FwYn CRAWI 17O K2 2R D0 INMIY 2R KT W0 2"'N XTI 02 X721 00

(:% naw)

D°IWY DY WY T2 pRIM DOWOW BV DOWHY DIw N1PDIIM MW 0°1aR X027 7"3ap0 TRV WOIT RPY 1AM M 29007 K 0D
IN9DD 379577 2 JINOWA ORI D JAOWA RY RPXORT RNV 2D RNWA 7070 MR 179V 3935 299w »wwa 179nem
>177 9777 AR DOV 212 WY 172 PIpm 7 98 D 0w nRPYAINT N2 O°1AR 707 RPY 2aN°T NAWA 2IRYn X0 002
WRD WINTY ARI 9 027 WINT Y MR A1 2297 7°0pY RNR 22U WA 1100 33PN TNV Y 10K 1R
2121121 MIAXY HW 93 WY 12 1PV NI 0K 0200 2127 9 42397 DINRT R? PRI KPROR RP2 12 0K ON°RI 1D NONK

(-7v X7n2 X22)
The question is why didn’t 9%°913 >3 do the same thing with his 7»%n that jam *1 did with his 715902

Maybe we can suggest that the 7170 of 7X°923 >3 wanted to see an example of the phenomenon nowadays
0 78913’ showed him an example of the phenomenon so that it shouldn’t be a w»wi nnn w1 727.
However in the case of 1311 *1 the 7170 s question was how is it possible to have such a large quantity of
precious stones and gems, a material which clearly does exist in the world, so his questioning wouldn’t
have been answered by merely showing him an example in 7177 29.
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Alternatively perhaps we can answer that in the case of X°%13 * the 7n%n was asking based on a p109. So
therefore he was deserving of getting an answer. However in the case of 131 *3 the 7n%n wasn’t asking
based on any other p109. So therefore he was deemed to be a 251 127 ¥ 3939, This would be the VW in
what it says in the X3 in n2w there, X197 *2°»2 X7 7730 91272 X7 279, Perhaps it might be interesting to
note that there seems to be a P11 between the %771 and the X”wAnn in whether the 72%n of 13101 °7’s
mistake was that he was learning the Y@ in the P105 to be WW» 9% or if he was learning that the vw» in
the P09 couldn’t be 1ws >05.

Finally, perhaps we can say that there is some gray area between when the 7170 is to be deemed a 37391,
and when he is simply to be seen as asking 7170 *1272, which might be up to the *27’s discretion. Perhaps
this is why the X113 in n2w immediately afterwards brings the stories of the o> of 9%11. This is to say that
in the determination of if the 7n%n is a 32371 or not one should try to have patience like %77. Of course this
would only be if the situation falls within this gray area. Alternatively one can explain this juxtaposition
differently. As opposed to the 213 of 9777 who knew absolutely nothing about the Torah, and therefore
could not be considered 0237371, since perhaps one would need to have a certain amount of knowledge of
a subject matter in order to appropriately be considered a real and true scoffer, the 7170 of 5%°913 127
knew some 7N so he might have been considered a legitimate 32371 if not for the fact that he was
bringing up arguments of 770 *1272. The X3 in 177710 refers to the 7170 of 1 *7’s remarks as
XMpoR. So perhaps for remarks to be considered Xm7 pox that have to be coming from someone with at
least a little bit of knowledge.
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Opposite e : Don’t Be Confused

™S

Sometimes it might become confusing when there are 2°X™1mR) 2°k1n with the same name, but with
opposite M w. Here are two examples with 777177 *3 and 01 ",

‘We know that &in;7 °01 *1 holds that X1 Xn>noX:
(.H'OP N2 n2 NJJ) R°1P RN2MOK 720 01
On the other hand >0 *3 the XK holds X°1p X7 XNONOX.
(.79 X7N2 R22 MHWY)
We know that X1ni1 777 * holds that there are ten types of *rIX.

(.19 1010)

On the other hand X7K7 X717° °7 holds that there are four types of o 7X.

(2217"™)

The Conceptual ”w7 non
Not Able To Fit Through The Door

=

—_——
7P 9PV KD DRIAW DRIAWT TR 208 KD 27 720 Vw025 9 InRY 127 312w 2R WOROR JoR 271 tRnwt o

XN2°7 27 °0X 27 IR 27 77NN 20K 277 27 N1 DRIM™W 1IN N1 IR IR 277 7R 9V KD 90K 27 20K 117
237397 P9V 27 2R 77097 SWYn R0 W DRI 9 TaVT K17 XnYya

(:5-.5 Xnp X22)

(.79 ") X220 XM PRI MARY 2
12W X927 RIM 177 M0 0 IR 17 IMRRYIND 77V M KD TOWD XOTI2 DR 79020 W RIT R 2 MK .3
(:m mMo2) ohan
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The Conceptual 97w naon
%122 215N %12 °12

0°12 °122 TN 02127 FRIT IR0 CWR 27 92 727 5010 RN K12 K12 027 WPR P R MR CWR 2112 L
(:3np X7n2 X22)

527 PWIR INRT 1171 RIX TO02IRD PR RO 1OPWR 7R D702 79072 92 2pY° 272 702 HLR 2py A kAR 2 .2
(.bn YD) RIX TPNN2 7220

From the grandsons response in 7010 you wouldn’t think to differentiate from daughters son and
son’s son, but from the *w1°X »7X7 117 you might think that. You see that this *w1X K7 117 is
not brought as a proof to "X 27 72 77 in 87n2 X22. Perhaps the reason is that allthough it is an
expression that people say, it is still just an expression, and does not carry weight in 75%:1.

The Conceptual 27w naon
9% 17en

(01 PY>3) Aan ATenr 1
(19 2"322) WK WP D021 1P PWR PR CW M .2

The Conceptual 27w naon
If I don’t know, how could you know?

(:19P 2"22) >¥7> *D0Y YT R JIRT OTN KRR 7 RNOA RPN 737 ppon .
(2% 72PY) N2 P RO ORI K7 0270 2
(P naw) TN o rann 3
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How could he know, and someone else know as well?

X277 7P RN2W1 X°19 9772 X102 RTOM 277 7P KNAW RIDXA TIMRNORT ROVAY W °17 YW RN
AR RTW 701 KT RY 7IWYA 732917 PRNN PR RRPR 19K 177998 IRD 171928 1R RN°720192

(3 PaY)
TIMD A0 12 RPY T AHWR RIORNM RNZ7M 727 X123 KT YT KT K KK 191 TN YIR 0K
(:2° X2 X22)

32777 %3 RNITPI2 17097977 28 1101 17 QTR I 07027 AwHW 1327 1MRT A"YR K117 27 12 720 MR

(.72 N2W) X207 NPY RIMT 27 72 7277 R OD I KD RIX OWR 27 WK 7000 100030007

NP2 AR AYWIT 922 AW N2 WAIR 222 IR 11072 wian 7127 TR YW 922 AR RNINT 21 W
(:73 M3212) 12197 17°N2°72 PROVTA ROR 9 370 KD RNIAT 277 KT RIX OWR 27 0K .11 191 IXI7O01 W
DI211 7013 71 HY 42 7973 K91 2°N2 0PAWY DOYAWA (OO0 0YIPT QAW D°YAW DI°IW 7917 MPNA wYh RoINT
NAR NYT2 1212 1172071 %Y IARY TR 93 272 725 101 0327 7Wn DYDY 1203 032 TNRY TR TR 92 DR
(.0 °3n) 101191 NWRIA K2 2PYK 12 1200

The Conceptual ”w7 nmon
Halachicly Chained for 24 hours

(.P T21PY) 72 MO RTM 1M

(:3 N2W) R I 77237 MNTARD 1127 MAP 1 NN TWYNW IR DIR W 1T PAR V3
(:32 Pavn) Y 1R RP KT WOV 122207 TV 17NN0I0T RYID VIPIR

(.13 2"22) 101 KWK R

(.12 P27Y)(:21 ) (o PAY)(:AD PAY) PRa i AT T a0

bh Wi =

n”a
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The Conceptual 97w naon
When Ever You Can You Should Be 7790

(:m37772) MPN% A9 Xow 12T P2 P .
(:12 2"22 °1%WI7°) 79N Prna MPNY I NRW A1 90 ROPA 1A paY M awa AR 2
If one wishes a certain thing then he should be 7710 himself on a certain thing metaphorically speaking:

T2°K2 7207 PP NWR2 OR 12 MR 191191 PNORT 1722 WIAN AW O 12 WAR M DR RPY MK 037 wnn
(.2°p onoD) 71T

Some say just so long as one is not *X771 TN XDIT N°22 MY 721N,
(.73 MD72) PR TN RDIT N33 MY 72107 AR R .11 191 NPINAN TP DIRT DR PR 27127 70V RN

The Conceptual ”w7 nmon
A Wall Of People

Stationary people moving objects:

(:1% 121Y) 177207 17°2m 1N M R vt L
(.70 2°110D) 171°2MD 17°2M 172D 1AM 07 2P PR vnw .2

People passing through partitions of people:

w

(23 P21PY) 101 D19 QTR 212 2w XN 2 AW 12 MK WEI MW TR0 TR0 701 272 X701 Y R
(.0 177I0) T DO9ARY PIAW QYA RW PN 4
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>nhWI” RN K23
Before I begin, I want to introduce with a joke opener.

We know that 311 ’1 said in 72°317 the following:

(2> 7am) 0" 0"wn 129DR MR AT 197101 DY PR K2 KX

”’

Now 131 *3 was in *”R and he might have been the one who canonized the *n5w1 71170, so certainly he
was learning 2w, and so for him it was important to stick to *»?217° and not learn *222. Why is this?
Well it is known that the X1n2 X322 n3on °222 has 176 blatt, and it is the largest noon in all of 0”w. On the
other hand, the 702 X232 *n5w1 has 39 blatt. This is a joke. this can not be the real reason why 711’
preferred to only learn *»%w1. First of all it is know that the X702 822 °722 is not really that long, and it is
only the lengthy commentary of the 2”2w" that gives it that illusion of being long. Secondly, even if it was
long, it isn’t longer than 0°175 N0 which 717 *7 learned in three days, and it took him only three months
to learn it J1y2.

(:2v mn2) ne XN2N2 777201 "1’ KNP0 7710 POl

Teaching All Of ®”w Twice
W ' A '

I heard someone say that 371> *3 was the one that sealed or canonized the *»n?w17° and that *wX ’3 was the
one who canonized °722. This about *wx ’7 is brought in M»on in 1717

IROMY KIAXT NPN03 KW 8"YRY ROV ANIK VR WK 2 Yawn . 0% ROWP R TIWD 1NN XIX 7" '010 2 7
MWPI OPRA O3 XY SWR 277 7277 WP 4 XU T WD 0K 1 K27 PART AVR RIAAT 1770 WK 270 TR
"2

Now we know that *w& >3 might have taught all of the 7%%n twice in his lifetime. This we can see from
the following X773 in X702 X22:

(:T3P X702 X22) P19 12 MR OWR 277 RINA RNTAA IR WK T2 R OWR 27T RP RNTA K12 0K
The 0”2w" explains:

A TIW 921 7AW OWW ST OWR 29 79927 ORT 27 NAIWNA RYNI AW QYD 177 AW L RN RMTR 3"7 0w
NP RTM QIR 2210 D°WHWA WY 191 177 DI 210 MW 2WHW WOAIWIRY MW 1071 11907 MW w2 1M
D DOMNONR DAY 2OWOW 17 RN RNTIA DONWRD 20w DOWHW 1377

Despite how long it took *wx 3 to finish teaching all of the 77N, we know that it only took him thirty
days to review all of his learning from the X773 in Jup 7397:

0192 1772 171901 IRIY RAW O WK ININRT RTININT TARY PAT NP0 00 [OR DR XD 799 MR WK 27
(.12 VP TIA) 191 .10 7% MR RNX 109N

Is it possible that jam° 9 also finished teaching all of the 7170 only twice in his lifetime?
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I thought this X773 in X702 &22 might give that impression.
A2 WYR 77 22X 20 3270 1397 IV AWK QYD 13TAPA 131 20 NN 231 12 MK MR 7 7R K 0D
(.nop ®1n2 X22)
The 02w says the following about the terminology of "2 1WwR" avs:
R2IP KD IR RO TWYR 737 01K 201 M2 7397 13 227 137100 20D 0 M

Perhaps it is known that 71m1> ’1 lived older than 60 so it is not 7w to say that he only finished teaching all
of 07w only twice.

Destined For Greatness
e

AR T I N WIOTR T ATT 0P 72 2K ORIT 12 1A N T ST 0P A 1T Taon nmn Ll
T2 IR UM MR AR PROM I PPIXI A 2191 MK T 770 PO PRI T PIXI 11 Y17
SRV AR ANTW TV DOVIM DM 1R DRI IR 710

(:3 0omoD)

779V R RWOTTRY 17 W02 KIT 00707 RAVT 72 WD 1297 112 IR 2297 7°0p2 IR ROWRT 772w o002
(:29 XMY) 1317 727 797 251 NN PHYT V22 TIXK O3

Tragically she didn’t live a long time after 131> *2 was born.

(:R7 WITOR) WAR 7N INTP° 1PAR N MR N2V 0D N M
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Sitting In The Presence Of 29
s "

' 3707 T 0277 79N 177 28R ORIT IR MY 3000 TM 00T R 2an a7 Tnen AN L
TRMAIVA PRPOAY A0 PRI 372 0107 MR T 77702 PROIM PRI 7702 PRI 77 2101 IR T AN
SRAWA RN IIIW TV 2WYIN 07 197 R DRI AR 7AW 712 IR 700 IR

(:3 0omoD)

RN 7Y AR D222 RAT0 W IR 777 K 101 Y 100 RPT A0 0 OWR PR 200K oo 2
ORI 92T ORR 207 TIAR TN M AR RI2ON 7T T RIVDT D MR RITIR RAR 770 IR RIIN
(790 720) TRR 17 A YT RIR D091 277 m9Y 2277 7°RI9M) 2277 PRI 277 101 T PRI

SHRRWINY RN N33
An argument between the 22217 and the *922:

Perhaps there is a np12nn in regards to the 0°12 taking a smaller w17 in the case of vy 0°031 in 1 P
nnw.

(2 2"22 Mow1Y)(.np 2"23)
Also it seems that there is a nP17nn in who holds what in this 3”2w °27 npYonn.

77 ROR OIWD PR IR A"2WN 327 0727 MMPYT TR ROXIN WA DIKRI 0921 YR 7771 211797 TPNKRY T2 2001 R2INT
(.19 XAN2 12) YR WY

7252 NP0 NPOIR ROR 19 PR IR DRODAA 12 1WA 127 027 3127 MO DR VPP 00 PWRIT AN
(.2 RN X223 NPWIT)

Perhaps there is one thing that the *»%w17> and the *222 agree on in X1n2 X22.
(:7p 2"22) R°wR NG PN Ko

NPIwn XM TINPNT NA0 1 0" s
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MY 7aPW °»7 173 . 8w M a® 3"7 "W .70 MoMa

VMW 57 12 TNTO RN TIWAY ROV 217 KT A0 ' 0190 . ROV 991D 199998 B 7" "W L7 N
RN227T IMAR KNP 73WAT °1°0 7 NN

(0719222 °PHWN) RNP1PN RN K77 7 MOWR XYY 70010 W) W1 priv®
Perhaps another thing they might agree on is that they both hold that a 0or 717 is a builder.
A 2om 7n9n Is A Builder
o112 KOR 7732 57PN DX T O2TIR T712 991 nRIw 292 219W 27277 20793 T7RRN K1Y M R TYOR M InR
(.70 M112)

09PN RIYT 227 717 7T WY 17 ARWI AWK 110X K7 7Y MR 7T AwYn 12 WD K2 0P RITD 12 P72 1 R
(.12 RIN2 K22 °NO2WIT) RNPNIRT 77012 72 XY 7D

It just isn’t found that a woman is married to this man and her earnings is awarded to another man (her
ex).

So a 0on 717N is a builder. What is he a builder of? The "»7w17° seems to say that he is a builder of 7.
The *222 seems to say that he is a builder of peace. Now it is known that all of the pathways of the 7N

are peace. Perhaps it is no contradiction to say that a 0o 7420 is a builder of 7710 and also a builder of

peace.

The Pathway Of Peace
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(.19 P"22) MW a7 1An2 1T ROR DR
(:27 2"22 W) AYAY K7 PYRW IRN? PP RPT 17 70V RO YRPT 10 0¥ 77v)

Question: What if the husband wants the doctor who will heal for free? Can the wife say 322 1327 X*0X
W 137 or not?

Question: What if the liable party in a damage case offers to heal the victim with a doctor who’s prices
are yp or set, and the victim wants a doctor who’s prices are not yp?

DY nosn

Random Scorpions
WA 17198 AT ROYTA PRI D RDINT TPNON KD 197911 RV KNI 177 MK 792 2p0VaT 1127 [own 717 93 KT M7
(.3% PITAID) 2P IRXN

"Bet you forgot about me didn’t you”
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US blasts Ben Gvir over visit to
grave of extremist rabbi
Kahane

State Department says celebrating legacy of ‘terrorist’ Kach party leader is
‘abhorrent;’ Jerusalem memorial event hosted by Ben Gvir’s associate Bentzi

Gopstein draws hundreds

National Security Minister [tamar Ben Gvir in the Knesset on November 13, 2024. (Chaim Goldbergl/Flash90)

The US State Department condemned National Security Minister Itamar Ben Gvir
Wednesday after photos emerged showing the hardliner paying his respects at the

grave of etc. etc.

Rabbi Meir Kahane. X175 298% 2957
- Times Of Israel
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15792 N2 '
There is an interesting X3 in X7n2 X212 which says the following:

(:73p 2"22) K7 937 27127 RD "M 2237 13277 97 127 R
The question is why would it write that it is 7577 127 if there is a npY?r between 7°&» 3 and the o°non?
I want to suggest three possible answers.

1. Since 78 ’ is arguing with the 2°n5m and he is a 71 n¥7 so his 7w is 202 and so it is XN27 ¥ND
n7. This is like a w127 brought down in the 1’0 in 7210 M371.

7772 129221001 727 70797 IRDI 7T LY 2T RITW 11707 100N 22w 77w '3 "0 2" 0 AR 10
XX 12 717928 KD X7 2"P 9aR 9007 N0OORT WYY 092 202010 NOR 9D PT IWIT 7o PER KT Y0aw
77072 97OR 77N 1A 1R AR O RIT 2" A998 AT 0w WK ¥EY IR 177707 JRI1 1NN 177700 PRYA
902 27 N TR 7RI 27157 91 79TAT 2 JPVTY oW 2172 H0AT 19990 PITI0M RIT 2112 DA 100K

PRI WY 191091 1OV RIOTIRTR TARIR TN DR 91021 132771 1000 MOORT TOWAR TN PII0NR RN
W'Y LW NYT 702 77007 ROR 297 N2 907 11008 M2V OYun IR? anaT YA RD1 Y KD 7 1770100
91101 2177 91 WY aw

You see that even the 1’0 agrees that in the case of 177710 the 7w of the VW7 is Hva.
The question is why does the X773 say this only by xn *1?

2. The second possible answer is that as opposed to *01° *7 for example where we would even
hypothetically pasken like him even when he is paskening against the majority as it says in
1217°Y, never-the-less in the case of 7R *1 we don’t pasken like him when he argues with the
majority.

R W AT ROPOR 197,191 201 2219 7977 0 M1 RA 9271191 1191 1A 01 2791 .19 191 11997
(2% P2Y) Wn

3. A third possible answer is that due to the humble nature of 7°xn *9, his YW is P02 to that of his
friends the o201, based on a X773 in naW.

12127 77727 17 1IAR M K2 1AW T 17 9107 WP YA RN M W DR OV TYOR 12 1waw "R
TOAANT 17771 RIT P2 0127 Y MWD 227 2IR9A RY M T3 2PINIR T0AM T2 N IRY O"YK 1D MR 02
(.79 W) MW RxHY 42107 DIR TWOIR

There is no connection between the second answer and the third answer because you see that "0 3 said
the same thing.

(2P NaWw) AW 2IR 12177 DY 9720 07 0OINIR IR 110 O1RY XY CIR YTV 0720 2127 DY ON7ay KD non c0r 'R

Despite all this we see in 1°217°y n2on that 172m7 *01° "33 7351
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N2

He Was Completely Genius

MM 7997 WAR RY [ 21577 1N RN 27 DW IMTA PRY DWW T MRY O 2197 Y177 173 RI2IM T2 RAR "R
MW 1" R? RN 0°1D 17 7RINI KNG 170 HY 021919 AR WY KL DY MR AW NPT 910 DV Tnyh 1van 1930 Xhw
327 777 7R MW AN %27 ROR 1AW ORI XYY 799772 072917 91V TR RITW 1" N RIPI 271 100 ORI 027 ROX
RN "D TONOTAT ORN2AMA RITIMAT ORiT 527 AR 79972 DORO1 1Y 1AW ORI 1AW XIPI AR MY 7Y 12 MO

(:3 12179Y) T IR MR PV 1P N7 200 RITTAD T TRPA TN 120K IR

The genius of 7°R» 3 had halachik ramifications.

TPRR 727 PIRW AR "X XYY 1292 72021 7273 QW PR KDY ROV TIW 2y oW 1RD M2 Awyn X'aw R
TN 2727 TR 12 AR TTA 11WD TOVOYY X1 NDTA M 2279 Rl 72 07 Y IRK TTA 110w TOVOYY P2 27pnT
(P 9930) PR7 " DER T PIWTR 237 12°0K) 1KY 12 PIY YN 102 20057

The genius of 7°X» 3 had ramifications in syntax.

T2 AT MY 2O P IR WATAT N2 9™ DR ORI RDW WK PR 1TV 21N 7027 MR WITR 735 2" 0K RDM
7T R AT 192297 793 AR R KRR 07 AT AT 1AM 027 207 I 12K wITH0 0222 1" AR 92 K9 R 0K
(:72 PA770) a1

nYY AT 9o
There is a time for everything.

Q

PR '
There is a time that 577 927 is with the exclusion of the ;7w of = 8% *1:
(:73p 2"22) X7 9277 9127 PR M 2230 13297 977 0127 ORI
And there is a time that %377 5727 is exclusively the 7w of 7982 *2:

9770777 272 012 TNR 195N MAX 717 TPI2T7 HROAA 1297 17 1R K2AN DN0Y TN TP 93 70 290 MaN Phww awd
AR P2 IPRY DR ROXIT? 272 17 10K 722057 2197 T MAR 1OHWw Ank 03°71277 PR3 127 077 K PN AN 170w
TR 277 HR9A3 1277 D°07 2OT 1T 1 MR TI0 92 92 727 NR PAT DR ROXIN T2 0P IRY DR ROXINAW 2w On
29 AR 207 7 MR RI1M T2 27 277 PHR ROVAYY TIAK 2R 2101 12 7277 7992 KOO0 027 AR Dponn RO 10Ty
TOTY MR WOPY WO OV MDOK RNIYAW RIPTIN 27 AR °D ARP 2377 911 710 72 12 7120 770 MR 1ponn R0 10Ty
2191191 93997 HHon X199 HRO9AI 1273 RN 1AM 227 K ARTDE 730 227 AR YO0 1301 %27 AR 01 DPIPNn RO
XXM 712X LW 2" DY "M DY NI972 R2INT 1327 030997 HHan 1297 PR 920 0070 IRA PRXY 92 A0 ' INR RO
(.79-:7% TAWa WRA) 19101 200 TN T 9 79 270 MIAR MOwY awd X'Om n'"I 2127 1020 07 00177
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MMMTT AT

a2 2
(:2°p N2W) 127 .11 D°WIN °12 1R D°OKRDNM *12 DOIWRD DR RINAT 712 K2 MR KT MR

P PID PN PR AR 727 19 20020 WY ORYDR 02 TN ' 9w NI 7 70 20 MR TN 'Y R N0 OR)
(3719 N2W) 197 .10 MR 77 IROND TITY PROERI PITO2 WY AUYNm 13N

Y937 12 P PAI0 RAOT 07 0K 2PY° NRAR AWM 22N NN RITT WD WD MR 2P 22 XYW M NR
(2712 X7N2 822 °17WI7°) 7913 Town R

AT AT

N1 N2
51931 7172 HIRN K7 MR DRI R? 70K 11D KW 17192 199¥ 707 13017 ' RIT 72 DIRW 131 M AR PR IR 191 .0
(.X1 D°1DD) 131101 *192 KOV "2

AT XY FARWA 172 DAY R XKW 7 1"N A 101 .00 IR AW AR KD FaRWT 102 DR AR XKW o i
TRIDN I3 IR KD 1122 WIPRT N2 AR XYW 0 2R TANI T13 7RI KD NIRON2 DO9WIT R KW M 10H Amaw
(:R3-.X3 71210) 121 101 o7
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91790

9112 ¥5°0n NiT2

(:PP NAW) AW IR 19172 79Y 27020 0 2PN OR 70 CPRW HEYI OIR YTV 27217 2127 DY ONN2Y R 00 001 1K)
(% PRIT)(P P2I70Y) ST YIER RIS

There might have been two 2°1772 in the times of the 2°17w&" who one might say were 1712 ¥*0» in what is
brought down in their name in 112103 NOOA.

(i mand) .1

Kesubos 25b Artscroll Note “8” : We see from the Gemara that one who reads first from the Torah can be
assumed to be a Kohen at least with regard to eating terumah. Accordingly, aa person should not be
allowed to read first from the Torah unless he can prove that he is a Kohen. [One witness, however,
suffices to furnish such proof, since the only halachic ramification is permission to eat terumah and not a
declaration of genealogical finess](Ritva etc.). Other Rishonim, though, maintain that nowadays, when no
one eats terumah in any event, the privilege of reading first can be given to whoever claims to be a Kohen
even if he cannot prove it (R’ Moshe HaKohen, cited by Ran etc.)

TVI0 A2WA RAINT KT WITPI 12T IR PP 1AW L TRITR PV 927 AR a7 IR 17 0 ap My .2
N"YVDIWD N7 PNPR MR T 170 21 920 27 9722 AR 9 AR 7Y 7902 M nawn (L A7)
Q77 INIR VAW Q1T INR WARPTA 112172 197 77D DWITR 1177 RIT IMRPT AWITR 7202 ORIT 12 K0vn N
3279 7RI PRI 2V A1 PR 1K 027 DAWOT AW 7 '92 M1 '0nT w1 INR KOTI2Y KD N R1T
XD RNMIIRT IR0 22K 73297 07977 N°2 IRMDIVA 771 ONAT 277 3217107

INRI 277 727 RITD 277 7°RWR 1°297 T2 RITD 207 W MM1IA N2 RITD 277 WA RDHAN AR N MR 3
DR 1773 NIAR YR NIND IXP TAR 17X TR TAR ITZW 121 277 7°27 KITD 27337 19391 D2 RI2 21 177
TP DR I PR T IR AT TR VAR R XA TAID KR TR0 DX IR R NIAR VIR N0IYRA 771P0
T RY NOIPR 127 DIWR PR RAVY TP 21T RAYY XK 17T RHVY RDORY 7T RIVY RAORY IEPR TAID ROX
317727 RNNYAWY 2°R1T RITD 27 IR X7 257 701 NOIZRAY FXONN DIWR RN DWW 7P NTT RV XK 0077
IDI7R2 W DR WY N0 10PN PRY RIR 11K RD 1I009R2 77107 1710 NIRRT R RN 72 XX RO
(:1 P21PY) RPI 7210 ROR 11732 1R 9577 9727 Wwyn N

4. A certain Dayan in Europe whos name was 3772 n?w 27 paskened that 0°172 who can’t say the

0°375 N2 for some reason, could be R¥1 with 711w> ymw. The 2°%1 agrees, but the 1771 n°2 argues.
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IR T 0N TN HRIWY YI0R HRIWS IS YIIOR RITD
How About A Modern Day Example:
Katz halts use of administrative detention orders against Jews in West Bank
The decision was conveyed during a meeting with Shin Bet (Israel Security Agency) chief Ronen Bar.
By JERUSALEM POST STAFF
NOVEMBER 22,2024 10:30
Updated: NOVEMBER 22, 2024 12:02

Israel's Defense Minister Israel Katz (photo credit: SEBASTIAN SCHEINER/POOL VIA REUTERS)

Defense Minister Israel Katz announced his decision to halt the use of administrative detention orders
against Jews in the West Bank on Friday.

etc.etc.

"In the current climate, where Jewish communities in Judea and Samaria face significant threats of
Palestinian terrorism, supported by the Iranian axis of evil seeking to establish a terror front against Israel,
and where international sanctions unfairly target settlers and settlement organizations, it is not appropriate
for the State of Israel to take such a severe step," Katz said.

"When there are suspicions of criminal activity, those responsible can and should be prosecuted. If no
criminal charges can be brought, other preventive measures must be employed that do not involve
administrative detention," he added.

"I unequivocally condemn any acts of violence against Palestinians and taking the law into one’s own
hands," Katz further noted.

Katz concluded, "It is critical to allow the IDF and other security forces to combat Palestinian terrorism
and violence effectively, without individuals undermining the rule of law.”
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The decision was conveyed during a meeting with Shin Bet (Israel Security Agency) chief Ronen Bar.

Katz is not expected to cancel current detention orders but will also not prolong them once they expire,
Ynet reported.

Reactions to the decision
Finance Minister Bezalel Smotrich congratulated Katz "on his courageous and necessary decision."”
etc.etc.

Why is this helping out the kohanim? Well first of all it is an Israel helping out an Israel. Second of all,
before the giving of the Torah when all of the Nation of Israel were situated at Mt. Sinai, they were called
a 0°175 n3%mn, so all of Israel is a “Kingdom of Kohanim” so to speak. So why is this Katz statement a
case of "1;72 Xon X172? The reason is because the origin of the name Katz is a m2°n *wX1 of ¥7°> which
stands for Kohen Tzedek.

Lastly it is a 7717 ¥20n "1 because he might be Jewish and he is helping out the Jews living in the
portion of P8 Y& known as 19w 777 or Judea and Samaria.

STTUT YOOOR TN

(.25p 2"23) H*932 1RO WM AW AT RO AT M MK

N3 YeR A

QMY o™ 73PN 19 TINAT NS0 PRIWY OF QWP aTa PRIRTAY MY PRP TIMY 207 WD T3 oFaR 'm
RV TINAW 107 DX P57 99K N2 D719RT WOR 72177 170 TARW N997XT 223 1080 A"01 WX DU PRYD SR Y
(2993 2%wp "7 'O .RY PYITR) 121 .91 AW QWA VI 79 K03 0 0 T

In honor of the new defense minister’s recognition of the Jewish people’s rights to all of the portions of
the land of Israel:
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911501

Katz s'"vp

RIMIW 72pn K97 KW 27pW 017 7°0122w1a RDIDID RITT 7177 ORI 9RO9A3 12997 73008 TVIOR 9277 170027 290 ROR
12 2°n2 "R 199 112 MR W1 °27 20212 79 "A9DIT K1V 7Y AINKR MR DIRY RATTT RAW 7 RDPYKR 7392 22K W2
X712 7772 2°N21 N°INR X190 NPIORY WAT RN™IIX NPH0INKR J10VIRA TIN°237 X1 72 "' 01790 X9 RND2 802 0Ipna
1 NNDIMY XY RIR 172 2031 RIDOT 179707 N°290W 1777 MR RND RAN AR 7°7 22V 977 022 71077 K770 X012
T N2 770 7R MAPN KD RND2 K12 DPR2 17°2 2091 PNNR WAT RNPIIR DY 9D0IRD KDY NNR 7WAT RNPIKR
(:3""p NAW) RAWD WYY RIAM RO 282913 127 7R Rawd

The daughter doesn’t gain an inheritance in the land together with the son.

R2INT PRITY TWYA KPR JPRW 12 PYMY PR PRIWOAW XOW1 120K 127 N2 QY N2 WD WAINT 93 27 R RINT 27 R
M DODW 7202 AW 1P AR TN RAN RDY A0 12 8K 300 AR T2 °27 797 IR 101 D202 2w Y2IRA
230 O WNRWY 21T NN DITAN TR DIPR2 A0 YW 1022 KRN PPART DIPR 00 79° 1w 12 Ao

(.1""Bp XIN2 X22)

The daughter doesn’t gain an inheritance in the land together with the son’s daughter.
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911501
A2l

JITITIIRL

Joke: What’s a Rav4?
Answer: I don’t know. He’s supposed to pasken m7xw I guess.
Rav4 : Four and *“39”:
(-23 PWYTP) YR 1NPINHA 71N YW 29 MR
(202 772I0) 127 JPALY PRI 2" °021 D027 AVAIR 222w 27 NN
(.72 X1 0O IOV 200 T MY AY2IN 27 MR
(.R2 MN°) 101 PO TP WP DOWI VIR 27 NN
MNTA 7192w 779937 XM 71 02107 1T 2N MIW MART IRD? RN

(o3 77217°Y) MINT Y2IR NP PR "R YR NP RN
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It’s A Rough Market Out There

7

Joke: If you are in the market during the time of the 2024 presidential elections should you have bitachon
or should you have bitcoin?

Crapary)ma 12 10 73"3p 17 MR
The Rough Market’s Of x9n2 x22

SIRW RN97T1 92927 7°21°27 2377 199DR) 121 T R? D2IRT WY O WK 1PAMT 25 0"7 51°27 1A AN 17100 R R
7913 T¥D KT MIXI? M7 702N 177D 2¥2 2107 IR POIDW TR NI 2P ROINTI ROR S1IMRT ROIND 7°WHIT RONK
7V IR T°DID 001 P13 MM DK 121 KD0M RIRY 77190 1777 MONT 770 RIPIT DN OIRW KAPTI VIR 7RI MKW TV NN

2127197 73PY RIAX NN 23R KT RI20 KOR 0°207 2127 YWD MIXAT N7 PIRY X197 IR X7 R0

(:Th X7n2 X22)
(.7WP RIN2 X22) P12 AR INMD 722 PUAA AR IRV 00 P90 1AM M MK 1727 ROR 09T w'n

(:39P XIN2 822) 1271191 "NWRAY 272 AR TN SNAPY WK AR 7Y TR QW 7 °NNI CIRY N
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I think if 217 would have trained his son to be a stock broker, he might have advised him to be a day trader.

Putting aside the question of how 27 would consider in regards to the relevancy of stock trading to Xn2nox
X*1p, and how 211 holds regarding X*1p Xn2n0X.

7727 AT TYIOR ROTTR K27 997 TI3R RN RNP7 R N0 KDY ROVAYA T2 170 17°72 12°K8Y 27 7°% I0R
(.»p o°rnoo)

There was once a high school rebbe who would tell the parents of children who were a bit behind or
having challenges keeping up with the rest of the class about his opinion of the kids using an analogy with
the stock market. The rebbe would tell the parents that if their kids IQ were a stock on the stock market
and it would hit 50 they should sell.

On that note I present a piece on one of the most patient and wonderful Rebbeim that ever lived.
hathl-R

71 A1
K2R ORP RIAY? WY RYTT 72TV 12 WYOR 0272 2PWY KITT 02IWAN 9277 73792 92 RV °27 K779 9279 1127 799 R
92 799 1R °92°0 RWR 197K 92 RDY 72K 92 °RY R J72K 927 POIR 020K R RIT 1PN 20K ORiT 0910 0K AR
SR D12 AR OV 92 2N ANR CITR 77 NIAR AR 70D 7ONYT XDV MAT 7701 2009 21900 00 R K17 7R
D;TY2RY ROR 7210 P10 1R OV 2 90230 792 IR 02w TRVTIRW 5230 09 PInT a2 DW 11127 X3 N2 WTp 21
AND TPIR MARPT PYAWT 1193 02 OXON 93 VIR A7 PIRD WK DWITRY WaRIW 09W1A 7700 SNV 2Py Py
197 391 RIT N2 WITRI T IR R 22N DOPIRA DOTRD YD IR R IR,

(.3 M)
The Gemara records an incident involving R’ Preida:

The rabbinic students said to R’ Preida: “R’ Ezra, the grandson of R’ Avtolas, Who is a tenth-generation
descendant of R’ Elazar ben Azaryah, who was a tenth-generation descendant of Ezra the Scribe, is
standing at the door.” R’ Preida said to them: “What is all this? Why do you give his lineage? If he is a
scholar, fine. If he is a scholar and of distinguished ancestry, fine. But if he is of distinguished ancestry
and is not a scholar, may fire consume him!” They answered him: “He is a scholar.” R’ Preida said to
them: “Let him enter and come before us.” When R’ Ezra entered,R’ Preida saw that his mind was
unsettled*. R’ Preida therefore began saying a scriptural exposition to make R’ Ezra feel beloved.
Scripture states: You said to God: You are my master. My gratitude is not to you. This verse can be
expounded as follows: The assemblage of Israel said before the Holy One, Blessed is He: Master of the
Universe! Show me gratitude, for I have made you known in the world. [God] replied to the people: My
gratitude is not to you. I show gratitude only to Abraham, Isaac and Jacob, who were the first to make Me
known in the world, as it is stated in the next verse: To the holy ones who are [interred] in the earth and
the mighty ones, all My desire is in them.

R’ Ezra responds:

When he heard [R’ Preida] mention the word “mighty,” he initiated his own homily, saying: “Let the
mighty come and exact retribution on behalf of the mighty from the mighty in the mighty.” etc. etc.
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*R’ Ezra was shaken by R’ Preida’s assertion that his genealogy is of little or no consequence (Taharas
Hakodesh; cf/ Maharal, Chidushei Aggados; Rif on Ein Yaakov). (Artscroll beginning of Note 29)

So perhaps you can say that R’ Preida intentionally said this teaching that glorifies the greatness of N1
max the merit of the forefathers, and family lineage, in order to build up R’ Ezra, and you see that it
worked as he was able to w17 and say brilliant teachings of 710 to R’ Preida, which might have been
something that he was unable to do before.

77999 '
(2R P217°Y) L1071 122G 177190 K779 12 007 927 2XKR AW TYOIR 5272 Awvn
Is this 7779 72 "0 *1 possibly the son of the famous patient teacher of Torah 7779 *7?
Perhaps the "> is ynwn that 77°99 *1 lived in the times of *27:
(:2% X2 R22 NOWY)

Being that 87> 72 901 *1 was a talmid of 713°2X >3 this makes it very unlikely that the famous X7>79 *
was his father or a previous generation, but he could have been his future generation (son, grandson etc.).

Alternatively you can answer that X779 *1 could very well have been the father of X779 72 °01° ’ based on
the X3 in 7217°Y.

SR M3 K1 D RIN TIRAT RAPAY 71V T A1 2231 23277 ARD YR Y 210 MIAT RPN RIAT 7°7 M0 X790 020

SRP RNW 7 ORP ROWA RIAR ROVY 921 5RNYT? ORAOK 7IXAT RN RIR 7 2"'RT ROVY X077 2R RIW XD RITRA
107907 IR AW 7R T T2 190797 0 XiP3 2R RDP N2 RPDY O1INR 20T ARA 7 5777 RIN 777 707 IR v 27 2R 0
(:73 1277°9) M T2 10 7" 172 MK ONKRT RAPYD 1T RIX 121017 MR ONKRT RAOY? TITI DX

This &3 shows that X719 *1 lived to be exceedingly old. Based on this it is possible that his son was a
7170 of 719X *1 and he lived to be many years later in the times of *21.

Where in 0w have we seen such a phenomenon?
We saw it in m»0N in regards to 727X 72 XTX 7.
There are at least three 10N that discuss this.

X327 72°2 117 727K 92 RIX 27 RIT M7 KIR 27907 2% 770197 WOBIT 772 KIN 27 KORT 770 0K 17" '0n 12 nvn
9 MRPTA YRIMWI 277 727 TIAT VAW XITT AR 72 RTR 27 XA K27 MK 72K 92 RTX 27 0K DIRPR 7202 080T
' AW 012 T I R SRIMWY 277 RPN AN AT 207 RIVT 1IRY 772 RN 27 RDR KT 79 MRPY 2717 SR

I RTR M NT 9" 2"V 2"R K27 RPN T KIR 27 AT

327 °1°2 77 INIRT 727X 72 V073 R?Y ORIIT 1127 07 19 .RAR T2 RIX M2 827 779 MR 77"7'0I10 .20 XIN2 K22
2 AR 072K YW IPOMA 73R 12 KIR 27 2w O (w1 12y A7) PYITRA AR

37X 72 KTX 27 77 PR 2"RI 0D 0IRR WP 0O0NP2 WD L AR ONaR YW PN 2wy ova a7 'on Ay puTp
7Y 527 MW 73277 2% TIRAY 2R 92 KTX 27 70 720 10720 0101w 703K DW PR 2w 1R AR X
17 F2AR 72 KTX 27 °3wT %5 "M IR (.22 A7) 222 PRI PR T2 JAM 27 002 2NN M7

On the other hand we see from the X773 in N7In that 87299 °1 lived in the times of AR *:



n”a

DREF B0 INSIESTS

(:21 MIn7) 121 KR M RTD M D RYa

A xwp In ®°wp and a v19°n In The x°30 With A y11°n Of The X°m0
N29

A xowp In Rowp:

We find in X702 X213, a contradiction in the 0”2w7’s explanation of the term X°wp when the X713 determines
that the question is to be left unresolved. 73X X2°py *1 points out the contradiction in .72 X7N2 X22.

On daf :21 he said that it is a refutation, and on .75p he said that it is not a refutation.
A 777°n in the X530 with a $19°n of the X3»0:

777 RINR RI2 R IR 0772 XAV AR IR K27 07772 XA PRI DA DRHDIVY XA PR R RAY PROND 91290 1°231% w° XY
2w HPn RAANT 79 RIAR K12 22K KR 790 R0 KD RI7T 72190 TR0 a0 2K AR 0777 ARRD Jup YW a9y 10T
(:30-.10 NAW) LY A0 RTAVT RIT AN2OY TIN07 RIT K72 R0 X107 20T K2 217207 N0 2°Ip7

Ran's lists of five
Na9
(:JP :1"3:1) 277°021 Y2 12N TV WA K37 R
(:7¥ naw) o°22 M Awnn X271 MR

The 73K X2°py *7 says to see Jup IAN°K 777 .71 RIN2 X212 *01N. Although not the main point of 73K X2°py *
that MmN also seems to mention that ;727 actually was in P& X and that he actually learned from ’
.

The Judicial Schedule Heirarchy
N29

TIWAWT 173 NIXA 27N RIPAR KW RI2XT XIPN RIDIW 707 °RAP R1T? RONRI K123 DK N7 %3 KW X7 MR
(P M) RKM2T w7 ©"7A RW™2 RINKRT XN R1IW X2

PV 172 71 1 07270 TIT 2121 2007 KW ORI D 1MW KIN 71277 RANE 017 11271 K2R Y W R NN
(.20 ©>771) 121 WRI2 P11 0O 77N AR W12

So the question is what if you have a 0or 71%n and an XnnX, a woman. Which case would X2 take first?

I want to add that this is a very X2 style type of question. Here you can see other examples of what I am
talking about when I say this is X27’s style.

Y2102 O DIWA TV N2 11 017 WITPY N2 I3 I0°2 219w DR APTY N2 T3 39330 I 1002 7107 RDWH 827 R
TOWD 77 ROYIART N2 77071 MI0DID DIWN TV NN N1 RAPOT IR VINT ATV 21T WITR WA 017 WITRY 179130 11 KA1
(230 Naw) RO°1 MI0TD W TV 710 M
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Here are six other places where %27 asks the same style of question:
(-p maw)(:r Mn)(:nX 2°mar)(.21 M2N2)(.T0 1) (A 727n)
Perhaps it is a sharp question, similar to the questions of the one who was sharp as a knife.
(1Y P9I 170 RDMA
Also you see that X17’s 7170 which was &9 21 also asked in a similar style.

RN TR BB 79YNYA 99P RDD 'OV NINANT MK T2 907 7001 DORY APYnn 9O0 07 RLWD XDD ' AR
(:70P XN X22) IP°N K7 W 21210 1000 N

nYY AT 9o
There is a time for everything.

Q

L\ S ktaliZjal
There is a time that we pasken like X397 ;752wn RDD *9 over K297 ;79»wn %08 °9:

21 P2 Y R2T RWH AR KDD 27 AN W22 K27 RWH AKX 99D 27 7121 XD TIW TIX pTIA ATIA 20 0K
(:7-.7 ©°1ED) YA M2 HY XN2YM )

7NXOO Y50 ORI 12 IR0 RY U9MING 9710 7w 30X°LR 370 aRY 12 7PN X2 930117 9710 K217 Rwn 9 27 INR
(:3P NIN2°) 7WD ANXOON AXON ORI 12 PIPAN KD UPMNAT 9710 TR N30T 27I0 TAR MK K27 AW XDD 27 77100

And there is a time that we pasken like X297 732w 92 *9 over X297 7onwn 822 °:

TR R2TT AR 99D 27 7TV NI NN AR RIT FAWH RDD 27 N7 XA N VIWDI P91 PUIW 7102 POK 27 INR
N2I7 7°0WH 599 27 PPN TP 192712 1R 120 X T AR AN MR K27 PAWA XD 27 7910 220017 922 0N
DTIP 71927 W KRNI 131 121 1779192 2R K2 2NRTAY AP 2TIP 11027 17 w1 120 R 1710 2°0237 902 N7 R
7NN NXPRA NN PRI 707 MR WK 2977 P RNIR MWA 1POR 772 099797 RIX 29D R2WOITA ROV A 37100
(:79p-.19p RN2 X®22) 1210 0°0017 902

27 MR RIDOR 1NN K27 AW KOO 271 POX RNW1D °27 1127 721 "W 1127 %27 RNWID °2 R2T 7o0WH 99 " 10K
(.12-210 777730) "W WA NP2 WYL N 1"on2 "% 12 YW 7"RT X12N0M RDD 277 7PN RAX

Perhaps we have a X037 and a nwyn to say this is the 71377 weather you say 7779 Rn3%°7 or 27 nwyn.

719917 120 7 2395°1p PN MANMK 77T MR M D MR P12 12 130 9 719917 27 MR K137 "R MR AR KPP "R
(:%P 2"22) 121 .11 27 AWYH 20 M RDTY

There is a time that pasken like X52 *9 over Y@ *97 71992 K337 *1 in their npy»n2 on W n7:
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XDD "7 72N RN2Y7TY 191 191 0K AR YWIT? 277 7772 RI1T 20 M MR KO 27 7AW jaRbEnlalakS
(:Tu-m PaY)
And there is a time that pasken like 277> °27 17992 K137 > over K22 *1 in their np¥»m» on W n7:
NDIP XP7l RA7D RNOY 191 . RDIP AR YW 277 7°72 R1T 27 X127 IR RDD 27 X1 RA7D ANR
(:10-.70 Xnp X22)
Elsewhere in 0w

277 1771 XD T2 212 IRY AN MEA 1Y NYOI0 89D "R MDD MDY mpn MvnY YIDT an T X2 X0
MW INWA DAY IMNAYT M1 0K TN 1MW 7170102 KK 112 KA TOONK 210X K MK YYIT 277 7002 K7
(:79p-.79P RN2 X22) 197191 YW 277 P72 KINT 212 XN29T P NRwa DR IMnaw ann

Love A 2> 75250
N1

You see that X271 would be 7°m>1a 7977 of a 0on 7120 who would come before him to have his case
judged.

(.v°p n2Ww) M2Ta R12°9N X7 7772 K70 22K MW7 K1 KD R1TY ’NDPb 712972 R2MX RNX 27 "9 0N 827 R
Perhaps this is an example of this:

X7 X177 7727 X123 X190 27 377 IR K277 73°9P K172 3MVAN 1R DK RPOWW 172 72V 171°9PW 17 712K PAw X190 27
(.7mP RAN2 R22) 1 O1INRY 7YY P0A PRV

Perhaps you see something similar with »2X from the story of »x¥ 72 wn:
(.22 12w)(:7vp 2"10)
Also with the story of Xax 72 717 .
(.MOP XN X22) PT 277 112 191191 PTRR ATIK IR? 11272 XA
Also perhaps you see somthing similar with *"aX’s son:

PR RONR WA R2ODIR 7727 277 7177 220317 ROV2T 777210 72 RV 277 70217 17737203 77210 12 RV 277 AN
(.RIP XIN2 X22) RO1R K71 "210IX DIWA MR MR 72 °2°2 277
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X239 Shows 712> To n®1° 29 His Rebbe
N9

NWmTaa

7O "% 7% 1K RAT 01 27 227 RNDIPOXR 1ONNMT P 1DMAT TV IARD 2R M7 A0 T R 109 M 70 KA
(:33-.33 R1217) KD 77999K W @1NT R R 779 MK K21 702y °570

AWK DIR 77°0°0K PO1°KR AR 1937 K11 29¥n XU 3D 7PTA2 A0 277 RN DY 77 XA0 72 0 277 772 X2
237 7972 K27 ROTAY RITA ORT T AR TORYDTI AT 0 2770 RIR TOATAORY 00 27 D MR RO 70 2T RPT YR
SROMIA PROIMI 7I0MAT INA 2771 29027 RA ORI 217 07 NWIONT TV TYIOK 2200 8?2 'R M7 KIR 9K X1 02 qov
OR 1911 7072 17 TANIW 11991 730R2 19 701 5N 12 PWT 93w AT 02720 1AXY 0OWR OTR OX 'R XA N2 mina
PRIV T2°DWH RIT NN WITPT 127 DI ORI MR PROMIN ARIY T1TA7 79 DR 1910 11991 DRONI 7100t IRy
(73 2272)(L 72 PAITY) KW ROX 9 IMRIW WA 7127 12 NN AR ROAT MR

I think that X217 must have really admired very much the greatness of his Rebbe 701 2.
Now X211 learned alot from X2°p¥ *3 even though he never saw X2°py .
(+33 9°11) R2*PY " AYAWT N2
Now from this following X773 in 8702 822 you can see that 821 really appreciated the genious of X2py .
A0 72 RPY "7 7PAWH RIARNM RN?° 727 K723 IART YT0 K2 IR 107 X023 5TV 0O 127K IR
(:2-.2> X2 X22)

So I didn’t see anyone, in my limited knowledge of where to look, who explains who might have said
something, that it turns out was also said by ¥2°py 2. Then I saw this X723 in 70°3 regarding the
conversation that took place between X7 72 7171° *7 and 10°p D11°DHOK:

PRI 2197 PTR2 NI29271 22007 7772 2OHWIT R0 RD DX X772 XD ORT IR 8272 RIK KIX X292 XD DARPT "R
RIX X297 9K NIRRT 220 717 21077 777 1R "R RDR 71127 PRI A3 1307 1TR 771 22007 o0 ROR IR

DR 72 1R OV 7100 IR0 WAT 2w NN R T2 MK 1AW R 12 OKT 211902 RITRT TV OR2AD NNRP K7 ONDR
TOPW WA 77 SR D00 DNYTY IR D°NOM 2°WH RPY 27 RAONOKRI A0 27 779V P PPNWOR PIT 2°awa nand
(293 7°13) 127 .191 777 3°P2W R Y 1102021 NPT 00 19Pw XNao

So perhaps when the X773 says here X2°py *7 ®%°n°R1 101 27 it means that this same thing that 701> *1 said
was said much earlier by the &2°p¥ *9 Xin, and perhaps it wouldn’t be said in 701° *7’s name if he heard it
said over from X2°py ’7 so perhaps this is one example of a phenomenon that 827 spoke of as proof to the
X171 of n AR that X°211 77y o0 from the fact that we see examples of 701 ’1 saying something, and then
it is found out that 7o1° 12 X2°pY *1 said the same thing. You could tell that X121 really admired the genious
and 72217 of X2°Py 1 and so I say you can see that he really admired the greatness of his Rebbe qo1 *1.
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The 85972 112w Tries To Understand The Xo%% 712w
Na9

27 132 7K KY X292 M2WT KN RIHR KOO " 90K T'K DXIMW 1307 7K K KO0 M2WT XNP7 KIDK K27 MK
(:0p 2"22)(.71 2°1ED) 191 .M

The X397 12w tries to understand the X357 T1aw:

(.25 2"22) X X2 R VA L
(TP N2AW) 131 7% RI2OK *NTH7 72 K2 MK I PRMY MR .2

Here are some things in X702 X221 that they both agree on:

1. They both say that the 75977 is in accordance with the 051 of 27 in regards to the definition of
"X in the rule of prmIN23 "IX12 V11 M2 PR. This might also have application in the case of a 5¥2
where we also said

(:719p 2"22) Prmnas MIR12 KN VAT PR

M5 D21 %D KV M2 PR IRIMY MK T ' MK 1T .01 WY AwY ORY 227 270 MWYS 10K K17 K
(79 2"22) "Ap RONT KO2IT RN RIVW PIT 117 RIHR TNYT KP2O TH0ERI R°7 1327 2215 197 .11 1R

Allthough %xmw holds like 827, one might argue that X327 doesn’t necessarily hold like Xmw since
he might say that the M%7 is X7 X237 JRMD.

2. They both say the 719%7 is in accordance with 7?1172 72 127 ™.
(.5 2™"2)

3. They both say where a seriously ill person instructed that a document be prepared, and from the
language of his instruction it is evident that he intended the document to enhance the
beneficiary’s rights, that we right such a document and deliver the award even after his death.
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(.17 8IN2 R22) 1AM 1°ANID 7997 1AM 27 AR 82T AR 191 1IN 12AM0 7997 PRINY AR 77170 27 WnR

4. They both don’t hold of the 995 of the 715%17 is always like 32w except for the three exceptions.
They don’t hold of this %25. Here is further explanation of this.

TR 737 T2 KPD1 Ok "R 3T K907 71977 MAR 777 WAR HROINA 12 IYnw M0 1097 PRI ek AT "R 901 "R
(23 P2aW) RN RNAT A3 RV 700
This is the X721 of DRMW MR 77177 *7 K A0 *1, that the 71597 is in accordance with X913 12 waw *A.
My 7771 is that XMW seems to be arguing with 131 97K 731 12 72 727’s 992 that we always pasken like ™
SX°9m3 12 W when he is brought in the mwn except for AR RN NTOX 2.
If Sxmw held this way, why would he need to say that the 713%77 follows 2X°%23 72 7wnw *2? Obviously he
didn’t hold of that 9%>.
(79p 2"22) AR RN PNTXI 279A PITINMI 7377 1NIWH 3w MWW 2pn 9 1AM M IRK 710 92 72 730 0K
The *n%w17° in X702 X232 implies that 27 held like 731 9 as well.
MR 72 MR 227 11NIWAHA 72921 PIAR AR TR JTOR 2981 PIN RN 12 YR '3 1990 2P0 992 PNk 10
(.17 RN K22 72W1P) MR TP MDWP MIAW OR913 12 YRR 1275 73977 D3P 92 1R 171 21 vl
Here in X702 X22 you see an example of where this np17n» has a 7137 Xpoa.
112 1777 KD OR IR A"2WA 132°7 M3 0900 M PR ROR WY TWYW R 112 DR 0031 20K 19001 IR 20107 . hann
297 DR 7379 RT YR RN 79V O ORA 197197 KD IR A"AWIR 1327 23090 91 100 ROVOR A 12105 M7 310 @A)
(:3%P RIN2 X22) XN127 X127 1OW 221 RV X122 KW K121 12°DR) RNIDAK 12V °2 57°N K7 RIPW 9707
So you see that X1 doesn’t pasken like 32w, so he must be paskening like the 1321 which answers the
R)’s question and they must be arguing. In this case it would seem that 33711 7”’R 17’227 and 21 as well
(according to the *n7w17°) would pasken like 3”2wn. The 1wn °19 in the aforecited *»%w17 says this
explicitly in 27. Perhaps it is interesting to note that here we have two places in 0”@ where there is doubt
as to whether 372w is arguing on the 7327 or not. Let’s consider in the X210 in X702 X232 what would be the
case if they were not arguing, how would we understand that? Perhaps the 13127 would be talking about in
the limited case of a good son who is not a X2 X72. So perhaps one might ask why, if according to
XMW, they are in fact arguing, why is there no X from PR saying that the 7397 is like 32w, Also
take a look at the 175 of what 7Xmw said to 777> *. He didn’t say the 170917 is like the 1327. He just said to
777 7 he said 191 .11 R0 *2 N K7, This means “Don’t be there”. Perhaps this might sound like just
good advice. As a person, who is a judge, it is advisable to not be there when the assets are being taken
away from a bad child. This is advice of staying away from np17n». So perhaps one can suggest that the
proof of the X773 is that XMW just gave good advice without stating that the 713%77 follows like anyone like
he did in naw. Perhaps you can be > that if 777> *2 would have to be there then he would have to say
that the 70977 is like 32w since the 13271 don’t argue. If they did argue then it would be much simpler.
XM could have just said that the 71977 follows the 13127 and then there would be no need to run away
from a npY2nn. The argument is wether you can remove the assets from the kids 7%°mn5% or not. According
to 32w you can do it 72°n5% and according to the 1321 you shouldn’t. So if the Rabbi is being asked if
the awarding of the assets was done properly it is a 728w of 72¥7°2, so who would 7xwWw pasken like.
Everyone agrees that if the assets were written to someone other than the children this is valid 72y>72.
So the only argument is 712°1n2% the person asked the Rabbi to advise him on the subject of writing his
assets to someone other than his kids. So if this is the scenario that 78w was referring to when he said X
121 XNI0MX 2 M7°N. then you could ask if he paskened like the 1127 and not like 3”2wA then why shouldn’t
777 1 be there? He could tell the person like the 71127 and advise him not to write his assets to someone
else other than his kids. So from the fact that xmw told 777 " not to be there we see that he either held
like 32w or he held that they weren’t arguing. This is all fine and dandy except the 22w blows it out of
the water by saying that 5Xw paskens like the 1127 and the X3’s intent is to prove that they do in fact
argue. Also the 02w says that this is the 7597 like 2X1mw and the 7121,
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Perhaps this runs counter to a certain 995 in psak that we have seen.
In a np17nn between XMW and 1am° *1 we pasken like jam» *A.

30 199 77995 JAM 1Y DRIAW R ANCAW PP PR 2121 XOM DRIY MR AT 20 IHKRT THYT ORA K212 K121 9K
DRIWT Y9¥2 TOR 21217 D29V TR AW PP 2121 P¥DM TN ' IR PAR 02 RO ' 0K

(2 Pa1Y)

So here we have a npY2mn between these two X7k if we hold of the 993 of always paskening like 32w
except for in three cases of 7117MK 7°X71 17°% 27y and we are paskening here like Xmw and not like j2m *9.
Perhaps it is because as the 272w says in X702 X232 there that 821 also holds like 2Xmw. Since X237 is
paskening in a later generation he is the X712 and Xn2> 75777.

You can see that X217 holds this way in :90 77 777 7712V NOA.

"RR "M
dRM '
(:R2 1277°Y) 7277 @°%wn 1PN P IR

Perhaps making a 12°0 to remember X713’s with M w of °X» ’3 can also be compared wn 717 % to
putting a handle on them.

WP
N N
1°192 KPW OTR? 1720 1°K1 1192 ROW OTRY PP D7 0772V >710W2a RY 2aR D°W1 °0°32 220K 0°00m
SRWT IR INWR DR NTD ROV RWI 172 DR P9 ROW 387 ORW
(:x° PO
So does 7°8n *1 not hold of 17192 X5 OTX? PaAn PRI 1192 KPW QTR %172
So what about the X of X137 *7in X 77y X M2

1°192 ROW OTR? 1727 K170 1102 KOW QTR? 1PI11 12 K17 MTT 2"p o877 NYT DY INNR 1997207 J0p 3 K10 0K
21 779 RIP RPOIL ORTY T2VT 12 RAPP RAT 777 KI°3 R1POI2 0°2210 T2 KXANT 1A 17192 KOW Q7R 1720 1R
(.x° M2d)

Tosfos (X1°n7 171 77°7) in M21n3 there explains that according to the 0°»om an 72¥ doesn’t have this

7% X°1 X902 so therefore they don’t hold in M5 that the 5va could be 9N the MW “WWw once he
was 1191 it to him through someone else, since along with the X7°p577 in the case of an 72¥ comes a T12yW.
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In m21n3, however we are dealing with an 0°2313 721 who has no T2y so for sure even the 051 would
agree that 7% Xr°1 XOpoi72.

1171
X120 9937 RNDA 1777 Y AWT RIPR OK 2WAK 2777 23 220> 177 K0 92 R 27 %210 92 7°p90 271 7°P90 92 on11n 27
TWR22 19 FONR 717 AT DINCWM 032010 2725 P27 12w IN0IIRY D1IRA WA AR 11N T N0 X°D 008 Hw
129K7 A0 NP 172 VOVOW Y 1790 1777 VAR NAWIY N O TY 712 VAL KPY T 772100 07 PRW 22 ¥Aan DR Jan
INWR R INWR IR? 9017 1K) 7707 RTA2 R 707 RIA2IRD 9017 19°R) KA1 XA 92 ORI ROV X770 XOX 797 K2 q01°2
(13 70%3)

17 ORI AR T M WAR 377 372 R 0P 277 PAPY IR 021N 037K RIN 277 R2°03 T XA D2 AT POAXR
AR AN M AR KT PR 77 MR 72100 ®D2 2O WOWY 2ONW INWR DR QTR RTWA 22N 2190 DR RD 10727
(33 M2IN2) L1271 .391 777 2300 2°7 97 R PRI 1RA M0 1997 PR

The Sinners in the time of =°8» 9
We see that 7°R» *7’s wife taught him to see past the sins of the sinners and to pray for the sinners sins to
be removed.

Y TR IMIAYDT 2297 92 19V AN PRA MOV RPN X2 707 1WA XP 1M 2T 7OM22w1 1957 231002010
QTR T DWW XIPT 7°9°07 2DW T 21N 2°ROUM D°RVIT 27N 1 DRVM N’ 2°NDT DWR TNYT ORA NPT X032
1T IOV N0 RV DR TW 2OYW A2WN2 11727 17V N0 YA KPR Q1R TIW 2OYWI 2RO YN T 11

(.> mon2) 7awna

So you see that 7°&» *1 even had concern for the wicked.

221197 XYY The Reasoning Of The Perushim Separatists
(:y ©°10D) W91 DIPI DOWIIDT RAYY IR
The & 13 says the following in naw naon:
RTMIW 22pn K27 RAW 29pW AT NI22W2 XDV R 717 ORI PX°9103 1277 7°AAKR TYIOR 9277 70027 219w RAR
12 2205 H"K 19D 377 AR W1 927 90312 07 239017 RIYA 170 7R PR DRI RATTT XA 70 RYVUKR 772 DR W2
X712 77°2 2°N21 *NPIAR K90 NPNPKRY AWAT RNMNR DOH0INR NIYIRA IN°H3T 811 12 "R 11720 XY RND2 X2 21pn2
1 N9 K7 RIR 7192 2031 RIODT 779707 NO9°OW 1777 AR K2 RAN VIR 377 2°°F 777 9012 1IN K712 XN
TN N1 770 7R MAPN KD RND2 K02 DIPR2 7°2 22031 PNONR TWRT RNPIR DY 9D0IRD KDY IR AWAT RNMIIR
(:TOP NAW) RIWH WL RN RNR PR913 1271 2R RAWwD
Perhaps you can ask, if on the one hand he says he is not coming to add or subtract from 7wn7T Xn»7K,
how can he say X712 @pna m°n kn02?
W OR X7 D212 PR ORY 2000 12207 P 1P 17 W DR KT 17 PR 121 W7 PIRT DARD W N2 12 2NN 001 000N
(:722"22°1%W17°) 12 °0°% K27 AR N2 0T PTIN NNRY P 10w 17
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Age vs. Reasoning : Who Should The 715977 Be Like?
(7°:8% PPWRI2) AYID DR R 1PN 72071 [9A 27 12 1R A0 DR XIPNY AVID 17w

1M DY AT 720 QW W 0732 IR W2 A0 T 9V ANK 1N 1T Y3n YN DR 7370 707
(2n:Rn NwRN2)

With divinely inspired insight to interpret Pharoh’s dream, Joseph was elevated to the throne from his
former position in the pit of prison.

Y2 7777 1R KNP 1279197 PY2OR RIX IR RND7 ORI W2 NNXK IR 1772 K J0U7 XID 799 199K RIX 727 X123 177 0K
1777 AR AN M7 2YWR 2 1R AN M R RIDID MT 29WH 777 1R 22WH IR XD TRT IR ORI 1777 IR DX
(:13 2""22) .11 .11 DWW 177 R DR 17 XX 779 1R 7010 9pW NN N7 RN

This story is with X7°v1 713°9X%. He wasn’t the only one who was released from being detained on account
of his showing his knowledge of the laws.

W T2 AR RPI TR T 9 MWER KP FTPNTR ST RM9A W 227 702 900 M7 013 12 KAX XTT RN 12 XaX
IMIPAW X7 112797 KA 172 MK 1IN 097 10T P17 TR "R 737 IN7E KXY 312 MK 1Y 1970 KIRD 10K XN19)
(:Xop naw)

So you see that in the times of the &7n3 if one showed that he was a 1127 &271% it would get him out of
jail. However, if he showed his superiority in learning, this would get him the throne (i.e. Rosh Yeshiva
position).

TR FT219T KW 2 T0R KDY RN MART 2 790K KW 208 1M 2200 1 7302 92 7271 KT 0271 K2 AN
(.7 DY) 191 091 TR KD MaRT

It happens to be that *aX was older than &21. Here is the proof.

(:av PYNTOR) R0 79 379 20 Nawd
Now MoIn in 7R vy 12 NN in 2 KI20K K177 27 727 9K 777 understands this X723 to be literal.
And we know that »aR was alive and saying over Xnny»w’s in the name of X7 during 777 2’s lifetime.

ARY Y T IR DR 9772K 02757 0T 2107 39992 0 UK T 102 PR 270 700 27 770 0K RNP7Am0T YIROR RO
(:7p o°nED) 101 N

Nevertheless they only made 2 the 72" WX because of his capabilities when it came to learning, and
they didn’t take into account the fact that he was older.

If you are still not convinced here is further proof.

712 220 27 10 MR DY N0 RN RI23 R PY MR RWOWR 73772 ROR P11 0D 117777 °327 9021 170277 ART R
29 AR 527 K212 O1PR2 ROPU7 PN 00 1Y IR K212 O1pn2 ROPUD P20 DR ORI TN SNOKT 1P RY KT 717 X121
Ro2U7 P9I N7 NART K91 PXY 2277 9D T2 RIPIMT 227 12X 027 X212 DR XO9UD PRI DR INRT P70 2271 RWN
19717 RIWOWPT INND RNIZTT RLWD 2 AR 127010 RN IR I RNIP7 7°17° 2277 172K °27 779 IR K°12 Dpna
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AR 7277 77237 977 R\ RAYDY RN X070 XYY RN ROON RMWIWPR2 272 7°2 MR NINKR PT777 127010 XN2257 IR
207,197 1391 93 O 02 °3p 777 MR 1R 779 KR 70287 IR RWTA 02 W 72 W19 Y1 INN20KT

(.3ap-:2np 81n2 X22)
vs. Reasoning
Halachik Reasoning

You see that you can have something halachik without reasoning i.e. a Xnyv X2 Xn?n.

1°021 72 2NID7 DRIMAW MR 777 20 MRT TR R RTIT RAYD X922 RNI972 7127 1730 9997 120 037 RIVIT 2 AR
(.7mP RIN2 R22) 1P INWOW TAYAA 11997 17730 7702 09 711 27 MRT TR RDITVIDR ROX ARWY XD WK

So you see from the & 13 on the previous 77 that it might be better to have reasoning in the halacha, at
least where there is a n12mn, the matter should be decided based on the better reasoning.

(see above the &3 quoted from(.anp-:29p 77))
Later on the X773 seems to indicate that this is something that distinguishes Halacha from Persian law.

902 7277X PROIDT XIPT ORT 1AM 27 777 PR T0 NTHWR X123 07 1OWR KO3 17NN KT 401 27 727 RHVY ORD
(:3¥P XN R22) 1191 .10 1AM3 27 MR KR 17700977 XYY 2270 KT ORDIDT RIT °2 KIR OIIR R2W

So msoIn mentions that these three things of X1 91 have a bit of reasoning (2 Xnyv n¥p).

T2 7182 PR DN 127 7PAYVT XOA0 NP2 DX 71°OW 11707 W1 RAVD NXP LXRYY K93 8novie 7"7 '0I0 7P RIN2 822
X912 1712 137 797 XKW 77209 ROR 171901 77 1090 KD RAN0A 1127 W INWR? 1031 93 2maT 191 .09 1101w X177 X120
37 XY IR INWOY TAVA2 19 RY 110 RANDAY IR MIWYRY 0TV R2TY 177080 0901 X7 XY WY Tyn .ond
NIPA 132 WM I 1R 190N TN R JNWHY 7mynaT oM RN

Who Should The Halacha Be Like? Is There Even An Argument?
(:%p N2Ww) 7 T2 XpD1 XM

There is an argument if there is an argument
777 9272 597 0021 R N2 19903 RY INKRP 2977 777 AR ORAW D220 1PYINWRY RIN 17 92 DH2OK AR KDD 27 777 IR
(.7¥ Xnp RX22)

The Gemara asks:

Rav Papa said to Abaye: Did all these Tannaim, whose rulings you say demonstrate that change does not
affect acquisition, take pains to join together to teach the law in accordance with Beis Shammai?

Abaye said to him: This is what they are saying: Beis Shammai and Beis Hillel never disputed this matter.

1R PRIPM DY ORTY 12 97 AR INPTA2 2033w 112 2R AT YT R WM 7R 19K 19X 1R 1 179V 00 901 ann
(:MIP) W DR APOY PO NRAW ROR PIWLEND

So R2°py *1 is saying that according to 777 n»a the 0°021 are 1npP1Ma and he agrees that *Xxnw n*a holds »17m°.
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Argument + Argument = Agreement

2220002222222227?
27 K W PRI TOKR 27 MR RYTITI 0K IRIDWT W 27 2R 27932 .19 .19 DAY 77102 22D 1m0 10 VR
(.1 M2IN2) ARV PPN ORI TAXYY PPN IR TI0T PR 92 1M

So there is an argument here between the Academy of 27, and Xy77:73, exactly who holds what in the
np1omn between 27 and XMW, but the end result is that each one paskens according to the lenient opinion,
and therefore the argument in the argument essentially leads to an agreement.

70770 KON AR MR D°ROM MYIHR ' 72 197w 7137 DONI0 RO I YR NIT0Y WD 1I0NT AW AT 27 IR
7072 RPIT°72 9377 2107 ROV 9 R RNOPM 1 73291 70K K" 77070 X172 90099 93 RIWT X090 KD X1y o910
20 P2IN) 1IWT 13272 KRNI W 13277 0K K" 707 RIPATA 200D 93 PORT 09D K RADY 0912.)

Again we have an argument between X101 % and R who holds what in the np17n between 139K ™
and the o°»51 and the end result is that they both agree that the one with the white stomach is 7w and the
one with the yellow stomach is not 7>, and the only point of argument is which name to ascribe to the
oD,

Agreement = Argument

Here are some &7n3’s in X7N2 X212 where we see the meaning of words or statements differ from the usual.
1. The phrase 17K nnX2 usually means that there is no argument in the matter.
29272 PYIT PRI RO 997 NAR2 DD MR naRa 17 0"wn .nh 700
However you see in this X723 in X702 X212 that it seems to be there is an exception to this rule.

PRITP PIAT? AT 2R 73 737K DNRD 7233 77102 AWRT DR DINAT RINT KO ORIN MY AWK H¥a %9 110 X0k
TINAY NI QIPD YRR ARRD IR ROWIT TN 027 JNI 027 01207 P PR PRITP 1IN KW NI 2R 1IN
177°°2°2 RDI°R MY MAWKRI 2992 9 110 IRD KOR Rp RIN 1177 ROWIT 0707 920 P2 PR 1°I032 KO0 WTIWw 20 P
INTIW DIPA 70D PR PR 702 7737 RT3 731 709K 20NN T2 79102 AWRT DR 0IRNDT 2INP 231 XI0nn oM
RN X7 T212°RAVY ORA PITAN PR RIT ND 2R RO 7000 RPITY 1P PR I XOW W 23P1 PIImn mhnb
TR PITI? MY 2IPR RO NN 1921 RIT NN P IR NIRD W7 ROWIT TN 020 RNONY MY 0RWRY V980 0D 10
(.mP ®IN2 822) 1011191 KDY 22127 RY 1Y MRWRY 2292 77 110 3I2R RUED RDY PR PR 1IIAY XKW 30w 0pn

2. Normally when the X713 says that something is 9377 >127 it means that everyone agrees on the
matter, and there is no argument. In this X713 however we see an exception.
777 IR RN 927 72K 0°00 2727 W IRIAY MR 7 27 AR 9017 11727 KT 901 11°27 2127 PRI 002
(:73P XIN2 R22) 191191 K77 9377 2127 R 027 2239 13277 9977 0727 ORI IR7PY TIXW 12now uwa

Agreement = Argument
9770779 272 02 TNR 1799507 AT 7R TI2T0 PRODA 1297 99 1R X2AN D101 00 T 93 70 20 AR 1hww awd
AR P2 IPRY DR ROXIT? 772 17 10K 722057 2109 77 M2 1w Ank 0377277 RN 129 077 K INPON AR 1o
TR 27 PRO972 17277 0700 270 1AM Y AR 737 72 92 727 AR P27 DR ROXIN T P2 IPRY DR XX owd onb
29 R 07 17 MR RI1M 92 727 277 AR ROVAYY 7IRKR 2R 2101 92 77277 73992 KROO1 027 7vaw Dpvnn RO 10Ty
TV IR WOPY WO 10V B9OR RNVAY RN 227 VAR 22 MR SO7 721 730 02 12 1727 7°9 MR npnn R0 U7y
2191191 930997 HHam X129 HROAA 1272 RN 1M1 227 K ARTIDOE 7737 227 AR OO0 1301 927 IR 01 DPINR RO
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NoXIM 12X HWw 2" 2w 3" 5w NI972 RPINT 1327 930707 D901 129 IR 937 29T N2 PhXY 12 701 ' INR ROX
(.177-:72 mIWwa WRA) 191191 201 TN M 93 79 20 MR 1hww awd K''om #2327 102 07 00200

The Fanatical Phonetical Noun Origin Hypothesizer
More Than Just An Etymologist

(3% RTN2 R23) wooIY

Y,

He’s not just an etymologist. He’s so much more. For one thing he is happy.

(:7y Paw) PNYT RTPT2
One word which we find in X702 %22 n2on is the word for shaking (as in shaking or nodding the head in
agreement) which is w373.
Perhaps this word is connected etymologically to the word &nw>7> which means fringes as in

(-7 Xy°Xn X23) RNWOID

The fringes (of a n*7v). Perhaps etymologically Xnw>1> means “thing that shakes”. The fringes would be
called this because as opposed to the n°2v which might remain relatively stationary with the body of the
wearer, the fringes on the n°"?v shake and whip around much more with the movements of the wearer.

There is one other definition of Xnw>73:

(.25 Maw) XnwoId

(277 773°2) SPRADON
This word means medicine cabinet. I want to suggest that this word is the etymological origin of the
modern day word “pharmacy”.

Y,

”Call me a fanatic, but I really think my phonetic noun origin hypothesis is true.”
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The Parallel X°310 Pattern 9”25 naon
This 0”wit nMon finds patterns of parralel X210 across various NMn2on. Here is an example of a pattern of
parralel X°310°s found in 1°217°Y and 7"77710:

35761636503 R0T7A
The v of 29 and making peace between the two parties.
(33 17710) WA MK 20 wHwa NN T 1312710

17T DR XD XAV ORA VT2 PAW AN 212 PRY INAM? PTI T 212 1Y 027 10T RCINT 9 KIAR X1 A0 27 MR
NAW RIW RN PRNT N7 RN AN 2127 773 912 177 230007 PA1I0Y AR 0T 27 RDX 03 RT TaY KD 23N ApT 1Y
¥9312 973 9129 3NN 12 30007 NI RNWT 721 RY PIw 2w °0n K92 X275 177 237002 11 ana2 221R 50 N1NDW 72 ROOwT
(.RD T21W) 1777 973 KD KA

127 %153 7Y DR 7N
(30 721PY)(:7 PITAI0) MIRDID WHW an PINT 37T 19 OR RPK 127 0Ipn1a 1977 771 PR 77N R0Im
From where do we know that this word implies withholding or bypassing?

5197 AN XY MARIW PINW ROW 71N WYL 72 2190 NIDT AR 127 7197 2wrw 7R%0Y Pan IR IR 12 ywir
(LT PITI0) RN KDY INWN KD 1901 RIP MK AN 27 MR RITOWIIT RIVO? 1NAN KD ORTT YRWH RN D) .0 WK

SRTIT VAW RD X DN A0 2033 POR IR TARIY 17V MR PADIM 1IN0 IR DYWA 13 2°517 93 K1 ' 0
(.70 PaY) M 2°2771 P°ORD 911 113 1732 IR 2°N3T RIT TN2VT RIW? PIOR
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1. When do we say it is 70X to do in the case of 2212 (older ones), and when do we say it is
ann to do it in the case of miw~ (older ones)?

Answer:

QTR RY QTR °12 23w DIR TR QTR ROX 1IW K7 ORI 927 927 AR "MR191 22997 DR Poopn hinn
(P NAW) 131191 KD 2%1we2 HaR 2w ROK 1IN KD 1 TR

A7V 2" 727 NI TR DWTN TR TWRT TN WORT TAR 27 N7 107101 P0N RYINT K2INT
(:7% 1"217°Y) MY 2 PR MW N0

Here is a 12°0 to remember this distinction: The 12°0 is the *n%217° that ©1n” quotes in the
beginning of 2°ros.

770K 2" 7727 ATYR YR DRUT2 023 2" .17 107 . 132972 3339 1T 11T 0N 17 0°nod
WIDNY MW M2IMTI NTA PITRT TP RN RA1Y RORT DWW 1772 103272 R? RNPNRTA
27,991 377 NIPRY DWW 2197

So remembering that 17 N1173¥y o°w1 will help you to remember that maw and not o2w».

(Disclaimer: If you are a woman reading this please don’t take offense. Remember that
this is a NP1 in the X773, as X701 *7 said in X7n2 X22:

(.Rnp 2"22) *121 %% 1927V 112 07T RO "R
In fact here is a proof to this 70w that men are lazier than women:

(@abRalyish)) D°95W 0°12) MIPIT N2 KYAIY 0°127 M2 NTPY WY 9377 911 XN
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The other X7 187 would say that it is only mentioned as a unique 7w¥» because it is a
rare case that you don’t see every day. If it were really true that daughters are less lazy
than sons, it wouldn’t be a Twyn worth mentioning.

GIVE YOU A RESTFUL
NIGHT OF SLEEP

AN

If the daughters are still insulted especially after seeing the above images here is a
conceptual 0w N7oM to appease the women.

IN22Y INoR nnAap
Hey there mister n11>77 Flash man. Where is your beautiful hair? Did it fly off your head while you were
running flying super fast?

(.2%p 2"22) o Ron R .1

RNTAR 7277 70D RNTAR 1 K°H "R 21 RDNYAY 7 81°9 "R 92 RADI prX® 17 73°2p SOR 2 MR 21 200 .2
W2 WO QTRY 1T 0277 7107 Dwn 009 DR 077 WAK 1 P2 K1 RDNYAY 0MPNN0 1 PR X
5277 9K T2 AR IRIMY IRIA TP RINI MW 17 DLRDA T9RT MR 12 Nupha 8720 AR DNRY 379 AR 20w
7"2P7 MR TWAT DR 1PYANT QW YW ARXYA RN DOXIP ARYAY WK KX 2197707 RWT RN9A 107 XX
WR2 7MI22 TNV IR TPMTIOY PIRNT 11°X2 WR DX MKW 1R WK NN CIR NIWIAAW 79T DR 29W9 0¥
T1m17 1973 9PTI2 001 1AM SPTIA NS AND RNINYAW 79102 IR 712071 2220 WR NIt 177 TR IR MR
(:0 PP X22) VX DWN WK T2

2. What are two places in X712 X232 that the X773 says that a person is not so brazen to do something,
127 .27 WOIR %0 K. ?

HOW DARE YOU!



n”a

NIk QT

DREF B0 INSIESTS

Answer:

MR DIR PRI AW NDIRY 127 11 Y WAR RYIR ORI2 DOV ORA 101200 700 mRT R L
MPOH MR WO AR T°2T 27 AR 57D T RYIR KT 1AM 27 MK W 2NN 79IKRT 0TI
R2P°T2 TR 220K AR R2921071 X232 0PIT 187 ORI 3717 27 AR O IRD 7RI DT
WOIR PR R 71 RIT P90 IRDT ROPYT AT WOIR PR R 12970 29701 1773317 R0190T
RIOW 511 27D 7977 X TI0W MR 777 190K RYIR M1 RYIR 2377 R 1977 DT %0 905
(:3% X2 R22) WK 72y KD MO
(:XDP RN2 R22) RID°D MIART AW PNWY WK PRAKR? .2

As a bonus I give you the X3 in X102 X212 about the one person who dared do something that
others wouldn’t dare to do.

AN PR 27 7721 777 1R R2TT PR ROR XKW 12 97930 1212K 2031 1727 PIRT 2wV 120 MID X117
9 ROR 2T MMIPR % 17K XI0W 777 120 RP 92 0127 IRY P27 19 0K 977 T2V X2 02 RPOWR 772 T
1777 AR TN NPT P2 0 1K 91937 1°10a7 179 TNk DR DIR RIT 9T RI0W K12 NOKR N9 X2
(:73P XIN2 R22) .72 M7 RIT RPN ROXIM °577 72T ORM Y0 Y71 9201 7 12017 110 120 770 1201

3. What are two places in 0w where we have the concept of a on? 990?
Answer:
(19 2PY) 191101 BYNAR OO 1153 DR ' MR

RN AR BB 9YNYA 99P RDD 'OV NNNANT MK T2 907 7001 HIRY APYnn 90 07 RLWD RDD ' MK
(:Y0p XIN2 X22) P°N R? W 21217 110000 N

4. What does a 19W and 0°931 2 both have the power to do?
Answer:
They both have the power to weaken a wall:

PN AR 90T 717 YN QYT 1Y 00 21 DR OV Yawd O MW WpnA oy KON
(221 ywm) 01

92K 0°1°2% PM02 R"'72 0150 '3 112 PN 19 OX KPR 17020 2w 17010 782 000 07X PR RY w'n
(:1> X7N2 X22) RN21N 737 12 92 7277 RN2APD NI RANE HWI 1790 791 P10 ROW 2752 0°1aK n102
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5. What are two places in 702 822 that we are told that we shouldn’t be 7271 (compare one
to the other)?

Answer: If a 70w was written on erased parchment, and the witnesses signed on
parchment that was not erased, the quw is 2109. The question is why? Why can’t we
simply have the witnesses write, “We witnesses signed on new parchment and the text
itself was written on erased parchment”, and we shouldn’t be concerned that he will erase
the writing of the 7vw again, since it is known that a 2vw that was erased once is not
similar looking to a "vw that was erased twice. The answer is that if it was erased that day
it will not be similar to if it was erased two days ago, so a "vw erased once two days ago
might look like a 7uw erased twice, or a MW erased a second time yesterday might look
like a 70w erased once two days ago, and although it is true that we can simply wait for a
day to pass after erasing to see how it looks when it is two days old, never-the-less we are
Y0 1T N2 wwn, we are suspicious for a faulty 17 2.

RIANM 2770 RIMIR 9277 12031 773 RI7T 2109 SRR 200 37 29 PV PRng 2V K17 XD XK 9977 °X
NAR QYD PRR1 AmIT 110U DAR KT PRI NN PR DR XD M1 XIWR XD Y RI0W R0 9V
POT7 KD RIVIR ROR RPAAR 2770 7200 RDT RO RPAAR 770 R NAT R 2270 237 27V NW prind?
RTY NI2°NA7 722091 RN2%7 X7 XpAnL RN RA7 XPAn 0T X9 70721 210221 SN0NR X023 00
27 AR AW 20 MW 12 PRRIY 1M1 12 PRRI AR IR ROVEIT 27 K NTO91 K17 22 97707
(.70 XIN2 R22) PYIW T N°AY 1WA R

Here is the second place:

79971 17 1R DR wynb 7097 17 1R TV 3wy 2on R TR von 8D 7097 174R 1R 1327 1IN
77 71077 N7 7219 900 99 R AR T XYW 72921 RD AT ROW 72721 Wy Owyn 190 qwvn®
MW TANN ORI TY ARI7 T MDA 2IRIR PR RINT MDA AT RPW 72721 TAKRP 937 WK 27 DR
(:9P RN2 X22) 0P IROM 7907 ANMY IRID 1IN

6. What are two things that 0797 said in X702 X22?
990 DX 1PN 1237 DR QP MXAT DINNT DR 73PA0 190 DX ARPRY RO R 0090 .1
a7 77X N7 WTZNP?J]? VWD 1AW 22727 19X QP MXNT WPRAY WD 77 1237 DRY WP 77 N0 DR VWD 7 hiptahi
(:0p ¥7N2 X22) 17V 72701 PIWPA 72N TINA RIR TIORY PIIARA 1TV A1 1200 1Y T WL PIY AT DWW 7Y
(:LOP 2"22) RIT DIV MYV NPINR NN NRT DD WX .2

7. What are the two times we mentioned “Arabians” in X702 X232 noon?
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Answer:
Y% HUR PART THR? WPANA IR WPRT RNYIX 0IR RP 1M77 RN°T722107 INRT OX2W 1717
(:MoP RIN2 R22) 191101 7°%¥ KPR RIVW 7 72 231991 0w 0
K322 W TYOOR T RAYY ORD RIPIAT 027 WK U1 ORND 2OXIP KON T 01973 Rnhwa
(223 ®7N2 X22) 777700 M2 DXP RPN
Arabian knights and Arabian hay's
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